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(3) Before you start to attempt the questions, you must explore this booklet and ensure that it contains all the pages
and find that no page is missing or replaced. If you find any flaw in this booklet, you must get it replaced
immediately.

(4) Each question carries negative marking also as 1/3 mark will be deducted for each wrong answer.

(5) Answer must be shown by completely blackening the corresponding circles on the Answer-Sheet against the
relevant question number by pencil or Black/Blue ball pen only.

(6) A machine will read the coded information in the OMR Answer-Sheet. In case the information is incompletely/
different from the information given in the application form, the candidature of such candidate will be treated as
cancelled.

(7)  The Answer-Sheet must be handed over to the Invigilator before you leave the Examination Hall.

(8) Failure to comply with any of the above Instructions will make a candidate liable to such action/penalty as may be
deemed fit.

(9) Answer the questions as quickly and as carefully as you can. Some questions may be difficult and others easy. Do
not spend too much time on any question.

(10) Mobile phones and wireless communication device are completely banned in the examination halls/rooms.
Candidates are advised not to keep mobile phones/any other wireless communication devices with them even
switching it off, in their own interest. Failing to comply with this provision will be considered as using unfair means in
the examination and action will be taken against them including cancellation of their candidature.

(11) No rough work is to be done on the Answer-Sheet.

(12) No candidate can leave the examination hall before completion of the exam.
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1.

Fb:-

Section-l : 60 minutes

Reasoning and General Intelligence 9.

Four number-pairs have been given, out of which
three are alike in some manner and one is different.
Select the number-pair that is different.

(A) 28: 364 (B) 34: 442

(C) 19: 247 (D) 23: 322 10.
"Dehradun” is related to "Uttarakhand" in the same

way ____ isrelated to "Himachal Pradesh".

(A) Shimla (B) Dharamshala

(C) Gairsain (D) Mandi

Select the option that is related to the fourth and the
sixth term in the same way as the first and the third
term are related to the second term.

XAD: GIJM: PSV :: QTW: ?: ILO

(A) ZCF (B) KJI

(C) ZGH (D) ZBD

Select the wrong term in the series.

18, 26, 30, 57, 68, 130, 146 12.
(A) 57 (B) 30

(C) 68 (D) 130

Select the combination of letters that when
sequentially placed in the blanks of the given letter
series will complete the series.
d__nn_k_Im____Ill__nokl__
(A)IkmolnmokIinmiIno
B)klomlInnokmlnmno
G kimlononknmmlino
D)kImolnnokmnlmno

n_ 13.

Six boxes are kept one above the other, such that the

box which is at the bottommost position is numbered 14.
as 1, the box above it is numbered as 2 and so on.

The boxes are of different color among- Red, Green,

Yellow, Blue, Orange and Black, however not in this

particular order. Third box is Red. Yellow box is kept

two boxes above Green box. Blue box is adjacent to

Yellow box. Black box is a prime numbered box. How 15.
many boxes are there between Orange and Blue

box?

(A) One (B) Three

(C) Two (D) Four

If it was Sunday on March 19, 2017, then what will be

the day of the week on March 19, 20277

(A) Sunday (B) Friday 16.
(C) Monday (D) Tuesday

Read the given statements and conclusion carefully.
Assuming the information given in the statement is
true, even if it appears to be at variance with
commonly known facts, decide which of the given
conclusions logically follow(s) from the statements. 17.
Statements: Some Hit are Fast

No Slow is Fast

A few Fast are Quick

All Quick are Miss

Conclusion: I. A few Miss are Fast

Il. A few Hit are not Slow

. A few Quick are not Slow

(A) Only conclusions | and Il follow

(B) Only conclusions | and I follow

(C) Only conclusions Il and 111 follow

(D) All the conclusions follow
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In a certain code language, 'PENGUIN' is coded as
'UVSLFRS' and 'FATHER' is coded as 'KZYMVW'
How will 'EMPEROR' be coded, in that language?

(A) VRUVXNX (B) VRPVZLZ

(C) VRUVWLW (D) XCUVALA

In a certain code language, 'one eight nine four' is
coded as 'da, kw, st, gh', 'four two nine' is coded as
'zw, kw, da' and 'nine one six' is coded as 'st, da, IV'.
How will 'six two eight' be coded in the same
language?

(A) zw, da, kw (B) Iv, zw, gh

(C) kw, st, da (D) lv, zw, st

A series is given with one term missing. Choose the
correct alternatives from the given ones that will
complete the series.

16, 16, 24, 60, 240, 1440,

(A) 11520 (B) 12240

(C) 10800 (D) 12960

How many letter-pairs are there in the word
'ADJUSTMENT' which has as many letter in both the
forward direction and the backward direction, as there
between them as per English alphabetical order?

(A) One (B) Two

(C) Three (D) Four

What will come in place of question mark?
23 |17 | 26

853 | 458 | ?

18 |13 |14
(A) 678 (B) 568
(C) 872 (D) 789

In a certain code language, 'CREATE' is coded as '9
24 11 7 26 11' and 'SMILE' is coded as '24 18 14 17
10'. How will 'DONKEY" be coded, in that language?
(A) 102120191117 (B) 141517 1923 26
(C)102120171131 (D) 14 1517 23 25 27

If 'A" represents 'Multiplication’, 'B' represents
‘Addition’, 'C' represents 'Division' and 'D' represents
‘Subtraction’, then find the value of the following

expression.

Expression: 123 B 154 C7D12A8
(A) 54 (B) 49
(C) 68 (D) 52

If ‘@' represents ‘addition™, '%' means 'subtraction’, '#'
means 'division', and '&' means 'multiplication’, then
what is the value of the following expression:

[{(312 #13) @ 19} & 3] % {(2 & 78) % 46}

(A) 29 (B) 19

(C) 27 (D) 17

Which of the following words can be formed using the
letters of the word only once?

VACCINOLOGIST

Word |: VOCALISING

Word Il: NOSTALGIC

Word Ill: CONVICTS

(A) Only word | can be formed using the letters only
once

(B) Only word | and 1l can be formed using the letters
only once

(C) Only words | and 1ll can be formed using the
letters only once

(D) All the words can be formed using the letters only
once.
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18.

19.

20.

21.

22.

23.

Fb:-

The mirror image of a clock shows a time of 12:18hrs.
What is the time shown in the clock? Also, calculate
the angle between the minute hand and the hour
hand, when taken in clockwise direction from the
minute hand, at the time shown in the clock.

(A) 1:42hrs, 99° (B) 10:42hrs, 135°

(C) 11:42hrs, 99° (D) 11:42hrs, 132.5°

There are six members, L, M, N, O, P and U in a
family of three generations. U is the father of P. O,
who is married to N, is the only son of U. Q is the
nephew of P. L, who is not mother of N, is the
grandmother of Q. How is P related to L?

(A) Grandson (B) Daughter

(C) Nephew (D) Mother

If 'A + B (10m)' means 'A is 10m west of B/,

‘A x B (10m)' means 'A is 10m east of B,

‘A + B (10m)' means 'A is 10m south of B',

'A - B (10m)' means 'A is 10m north of B'.
P-T(@7m),VxT(15m),V+Q (17m), Q + U (14m),
R-U (8m), S+R (14m), X - S (15m), X x W (15m)
What is the shortest distance between S and P?

(A) 13m (B) 19m

(C) 15m (D) 17m

A cube is made by folding the given sheet, in the
cube so formed, which of the following pairs of letters
will be on opposite sides?

38

(A) 4, 2
(©)2,5

() 6,3
(D)3, 1

In the question, a word is represented by only one set
of numbers as given in any one of the alternatives.
The sets of numbers given in the alternatives are
represented by 2 classes of alphabet as given in two
matrices below. The column and rows of matrix-I are
numbered from 0-3 and that of matrix Il are numbered
from 4-7. A letter from this matrix can be represented
15t by its row and next by its column. For example X'
can be represented by '21', '67' etc. and 'Z' can be
represented by '31', '54', '77' etc. Similarly, you have
to identify the set of word 'GOLDEN'.

Matrix |:
0 1 2 3
0|G |Q |E |K
1A |S |J L
2 |C [ X |O |W
3 |D |z |J N
Matrix Il:
4 5 6 7
4 | L S E Z
51|Z B |G Q
6 |D [V | M X
71X |O |N Z
(A) 00, 75, 13,02, 30,76 (B) 56, 13, 44, 02, 76, 75
(C) 00, 22, 13, 30, 23,12 (D) 56, 22, 44, 30, 46, 76

Which answer figure will complete the pattern in the
question figure?

24.

25.

26.

27.
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(A)

4
2

Identify the correct mirror image of the given
combination, when the mirror is placed to the right of
the figure given below.

N'@23#4&nm
mn3b¥ESO!UM
mn3b#ESH!IUM
MmAN3XPESO!IUM
MmAtERESO!IUM

(B)

(A)
(B)
©
©)

A piece of paper is folded and cut as shown below in

the question  figure. How will it appear when
unfolded? S
ol L
Lo N - ]
ofl [ge golée
N[ BA B
" of] [go o [Ro [Ro
o]  [oRllge
O K1 I = 155

Seven people, Anu, Bill, Neha, Gina, Hank, Pam and
Dan, stand along a linear row such that all face in the
north direction. Pam sits third to the right of Neha.
Anu sits adjacent to Gina. No person sits to the right
of Gina. Bill sits second to the left of Dan. Bill does
not sit at the extreme end seat. How many person/
persons sit to the right of Hank?

(A) Three (B) Four
(C) Five (D) Six
Select the correct option that indicates the

arrangement of the given words in the order in which
they appear in an English dictionary.

1- CURBSIDE 2- CURATIVES

3- CURRENTS 4- CURRENCY

5- CURRICLES

(A)2,1,5,4,3 (B)2,1,3,4,5

(©)2,1,4,3,5 (D)2,4,1,3,5
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28.

29.

30.

31.

32.

33.

34.

35.

Fb:-

By rearranging the letters of 'CHARACTERS', we can
get an English meaningful word. Each letter is
denoted with a different number as shown in the table
below. The combination of the numbers for the word,
which is not meaningful, is
1/2|3|4[5]|6|]7|8]9]10
CIHIA|IR|JA|JC|T|E|R]|S
(A)34628910 (B)14510289
(C)10693762 (D)65910284

Which two digits and signs can be interchanged so as
to balance the given equation?

120 + 168 + 7 - 204 x 3 = 1492

(A) 7 and 3; x and = (B) 168 and 204; + and x
(C)7and 3; -and + (D) Both 'B'and 'C'

In the question below some statements are given
followed by three conclusions I, Il and lll. You have to
take the given statements to be true even if they
seem to be at variance with commonly known facts.
Read all the conclusions and then decide which of the
given conclusion definitely follows from the given
statements, disregarding commonly known facts.
Statements: Few Cars are Bikes

Some Bikes are Planes

Only a few Planes are Rockets

Conclusions: I. Some Bikes are not Rockets

II. All Cars can be Rockets

Ill. Few Planes are Cars

(A) Only conclusion Il and IlI follows

(B) Only conclusion 1l follows

(C) Only conclusion | and Il follows

(D) None of these

Quantitative Aptitude

Find the smallest number that is divisible by 12, 22
and 32.

(A) 1096
(C) 1248

(B) 948
(D) 1056

What will come in the place of question mark (?) in
the given expression?

{V156.25 + V56.25} x (84.25 + 62.25 + 5 - 37.75 +
32.17 of 5) = ? + 45.52 - 25.52

(A) 2076 (B) 2376

(C) 2976 (D) 2126

The ratio of quantity of four different fruits P, Q, R and
S is 2:5:3:4. Average quantity of fruit P and fruit R is
45kg. The average quantity of fruit Q and S is 54kg.
Then, what is the quantity of fruit Q?
(A) 80kg (B) 54kg
(C) 72kg (D) 60kg

The average weight of 52 bags of rice is 36
kilograms. If 8 new bags of rice are included, then the
average weight of all 60 bags of rice becomes 38.2
kilograms. Find the average weight of the new 8
bags.

(A) 54 kilograms
(C) 52.5 kilograms

(B) 46.5 kilograms
(D) 48 kilograms

At present, the average age of 'A’, 'B' and 'C' is 35
years, where the age of 'B' is 22 years more than that
of 'C'. 5 years ago from now, the age of ‘A" was 40%
more than the age of 'C' at that time. Find the
difference between present ages of 'A' and 'C'.

(A) 8 years (B) 11 years

(C) 7 years (D) 10 years

36.

37.

38.

39.

40.

41.

42.

43.

44.
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Total population (male + female) of a town is 5850
such that ratio of number of males to that of females,
in the town is 15:11, respectively. If number of
unmarried males in the town is 625 less than that of
married males while total number of unmarried people
in the town is 2250, then number of married females
in the town is how much percent of number of married
males.

(A) 80%
(C) 50%

(B) 20%
(D) 60%

The cost price of article 'B' is Rs. 120 more than that
of article 'A'. If articles 'A" and 'B' are sold at profit of
25% and loss of 20%, respectively, then the selling
price of article 'A" would be Rs. 75 more than that of
'‘B'. Find the cost price of article 'A'.

(A) Rs. 415 (B) Rs. 330

(C) Rs. 380 (D) Rs. 400

The selling price of an article when sold at a loss of
15% is Rs. 168 less than the selling price of the same
article when selling at a profit of 20%. If the article
had been marked 25% above its cost price and then
sold after a discount of Rs. 60, then what would be its

selling price.
(A) Rs. 600 (B) Rs. 510
(C) Rs. 540 (D) Rs. 520

A father invested ¥'X' and (X + 625) at simple
interest of 12% p.a. and compound interest of 20%
p.a., compounded annually, respectively in the name
of his two sons 'A" and 'B' who were 14 years old and
16 years, respectively such that both sons would
receive equal interest at the time of their 18" birthday.
Find the value of 'X'
(A) 6250

(C) 7125

(B) 8500
(D) 6875

A 180 litre mixture contains of only milk and water in
the ratio 7:8, respectively. If 8 litres of milk and 19
litres of water are added to this mixture, then find the
ratio of quantities of water to that of milk, in the
resultant mixture.
(A) 34

(C) 43

(B) 45
(D) 5:4

‘A" and 'B' together can complete a work in 110 days.
'‘B' and 'C' together can complete the same work in 90
days. 'A' and 'C' together can complete 50% of the
same work in 49.5 days. Find the time taken by 'B'
alone to complete 20% of the work.

(A) 44 days (B) 39.6 days

(C) 36 days (D) 41.2 days

A bus travels a total of 672 km where it travels the
first 25% of the distance at a constant speed of 40
km/h and 50% of the remaining distance at a constant
speed of 48 km/h. If the bus took a total of 13.95
hours for the journey, then find the speed at which the
bus travelled the last part of the journey.

(A) 36 km/h (B) 56 km/h
(C) 60 km/h (D) 44 km/h

If (x2+ 32)= (2x + 7), then find the value of (x*- x3 +
X2 + 8).

(A) 12 (B)6

(C)20 (D) 2

A 3.5-metre-tall giraffe is 38.5 metres away from a
tree. If the angle of inclination of the top of the tree
from the eyes of the giraffe is 45° then what is the
ratio of the height of the tree to that of the giraffe?
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45.

46.

47.

48.

49.

50.

51.

52.

Fb:-

(A) 9:1
(C)12:1

(B) 21:2
(D) 28:3

In the given figure, AB is parallel to DC, AB = BC and
AD is parallel to BC. If AC =9 cm and BD = 14 cm,

then find the area of rECD given that E, A and B are 53.
collinear.
E A B
+] c
(A) 35 cm? (B) 31.5 cm?
(C) 27.5cm? (D) 40 cm?

If 5sina + 8cos?a = 8, and, 2tan?(a + 30)° + sec?(2a +
45)° - sin%b = (23/12), then find the value of 'b'".

(A) 60° (B) 90°

(C) 450 (D) 30°

If 'x' is added to 10, 12, 52 and 60, each then the
numbers obtained will be in proportion. Find the value
of (4x2 - 16x + 8).
(A)O
©)2

(B) 16
(D)8

In a stream flowing at a speed of 6 km/h, a boat takes
90 minutes more to travel 28 km in upstream than the
time taken by it to travel 40 km in downstream. If the
boat travels for 45 minutes in downstream and for 105

minutes in upstream, then find the total distance 54.
travelled by the boat.

(A) 29 km (B) 34 km

(C) 22 km (D) 44 km

Ram lends Rs. 5,600 to Shyam at compound interest
of 15% p.a., compounded annually. Find the interest
received by Ram after 3 years

(A) Rs. 2,916.9 (B) Rs. 2,616.5

(C) Rs. 2,716.6 (D) Rs. 2,416.9

Find the smallest number from which when 17 is
subtracted the number thus obtained leaves no
remainder when divided by 48 or 70.
(A) 1670 (B) 1697
(C) 1700 (D) 1720

In the given figure, ABCD is a regular quadrilateral
where P, Q, R and S are mid points of sides AB, BC,

CD andADA respectively. Find the value of 'x'. 55.
56.

D R c

(A) 120 (B) (150/13)° 57.

(C) 15° (D) (144/13)°

A road roller is in the shape of a solid cylinder with
radius of 3.5 feet and volume of 462 cubic feet. How
many revolutions does the roller need to make to
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level a rectangular ground with length and breadth of
165 feet and 120 feet respectively? (Take 1 = 22/7)
(A) 80 (B) 75

(C)55 (D) 60

The pie chart given below shows the degree/
percentage distribution of the number of toys sold in 5
different cities out of total number of toys sold in all 5
cities together which equals 5400. Read the chart
carefully and answer the question that follows:

Raipur, Chennai
20% , 18%

Banglore,
110°

Find the difference between the number of toys sold
in Bangalore and the number of toys sold in Raipur.
(A) 570 (B)520

(C) 620 (D) 550

The table given below shows the number of lions as
percentage of sum of number of lions and tigers and
difference between number of lions and number of
tigers in 4 different forests. Read the table carefully
and answer the question that follows:

Forest | Number of lions as | Difference
percentage of sum | between number
of number of lions | of lions and
and tigers number of tigers

A 48% 18
B 40% 112
C 30% 140
D 72% 176
Find the average number of tigers in forests 'B' and
'D', together.
(A) 196 (B) 240
(C) 224 (D) 208

If area of an isosceles triangle is 20V11 cm?2 and
length of its base (unequal side) is 20 cm, then find
the length of equal sides of the triangle.

(A) 12 cm (B) 15cm

(C)8cm (D) 18 cm

A cuboidal room has length and breadth of 18 metres
and 16 metres, respectively and the volume of the air
contained in the room is 4320 m3. Find the sum of
surface area of four walls and the ceiling of the room.
(A) 1308 m? (B) 1424 m?

(C) 1180 m? (D) 1240 m?

A hollow container is in the form of a right circular
cone with diameter of the base of 12 cm and of height
24 cm. This container is completely filled with water.
Find the radius of a spherical container which can
hold exactly the same quantity of water.

(A) 12 cm (B) 8cm

(C) 6 cm (D) 4 cm
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58.

The pie chart given below shows the percentage
distribution number of teachers (male + female) in five
different schools out of total number of teachers in all
the given five schools together which is 12500. Study
the pie chart carefully and answer the question that
follows.

If number of male teachers in school 'A' is 250 more
than number of females teachers while number of
male teachers in school 'D' is 80% of total number of
teachers in that school, then find the difference
between number of male teachers in school ‘A" and
‘D

(A) 1720
(C) 1920

(B) 2040
(D) 2420

59. Vansh and Varsha started a business together by

investing 32800 and %4800 respectively where Vansh
invested for 5 more months than Varsha. If the ratio of
profit shares of Varsha and Vansh is 9:7, respectively,
then find the number of months for which Vansh
invested in the business.
(A) 20 months

(C) 14 months

(B) 22 months
(D) 16 months

60. The line graph given below shows the percentage by

60

50

40

30

20

which an article is marked above its cost price and
the percentage of discount offered on the marked
price, for 4 different articles. Study the line graph
carefully and answer the question that follows.

=+ -Percentage by which the article is marked
above its cost price
—f— Percentage of discount offered on the marked

price of the article

0

Article A  ArticleB  ArticleC Article D

If the cost price of articles 'A' and 'D' are 3400 and
%300, respectively, then find the difference between
their selling prices.
(A) %60
(C) %96

(B) %120
(D) %78
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Section-Il ;: 60 minutes

62.

63.

64.

65.

Fb:-

In the following question, a sentence has been given
in Active/ Passive Voice. Out of the four alternatives
suggested, select the one which best expresses the
same sentence in Passive/Active Voice.

Did you clean the garden yesterday?

(A) Were the garden cleaned by you yesterday?

(B) Was the garden cleaned by you yesterday?

(C) Have you cleaned the garden yesterday?

(D) The garden was cleaned by you yesterday?

A sentence has been given in Active/Passive Voice.
Out of the four alternatives suggested, select the one
which best expresses the same sentence in
Passive/Active Voice.

The computer encountered a problem while running
the program.

(A) While running the program, the computer
encountered a problem.

(B) A problem was encountered by the computer
while running the program.

(C) A problem has been encountered by the computer
while running the program.

(D) A problem will be encountered by the computer
while running the program.

A sentence has been given in Active/Passive Voice.
Out of the four alternatives suggested, select the one
which best expresses the same sentence in
Passive/Active Voice.

The water works board is supplying water on
alternate days.

(A) Water is supplied on alternate days by the water
works board.

(B) Water is being supplied on alternate days by
water works board.

(C) The water works boards has water that is being
supplied on alternate days.

(D) Water is being supplied on alternate days by the
water works board.

In the following question, a sentence has been given
in Active/ Passive Voice. Out of the four alternatives
suggested, select the one which best expresses the
same sentence in Passive/Active Voice.

Did you remove your shoes before entering the
house?

(A) Were your shoes being removed by you before
entering the house?

(B) Remove your shoes before entering the house!
(C) Were your shoes removed by you before entering
the house?

(D) Could you please remove your shoes before
entering the house?

A sentence has been given in Active/Passive Voice.
Out of the four alternatives suggested, select the one
which best expresses the same sentence in
Passive/Active Voice.

The gardener is watering the plants on the weekends.
(A) The gardener has been watering the plants on the
weekends.

(B) The plants have been watered by the gardener on
the weekends.

(C) The plants are watered by the gardener on the
weekends.

(D) The plants were watered by the gardener on the
weekends.

66. Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is
no need to substitute it, select 'No substitution
required'.

Europe's energy crisis might been _ forcing
companies to switch strategies or close down.

(A) is being forced (B) is forcing
(C) has been forced (D) No improvement
67. Select the most appropriate option to substitute the

underlined segment in the given sentence. If there is
no need to substitute it, select 'no substitution
required'.

But for_my experience, when you buy off brand
products there may be slightly different sizes.

(A) at my experience

(B) No substitution required

(C) as my experience

(D) in my experience

68. Which of the following is opposite in meaning to the
underlined word?
When the researchers accounted for the relationship
between an electron's spin and momentum, they
could explain why mercury has such a low threshold
temperature (around - 270°C).

(A) generating (B) floating
(C) ending (D) binding
69. Select the correct meaning of the given idiom/phrase.

Fire and brimstone
(A) Reopen and quarrel  (B) To punish
(C) To forgive (D) To forget

70. Select the correct meaning of the given idiom/phrase.
Sell ice to eskimos
(A) To let a troublesome time pass
(B) To be able to sell anything to anyone
(C) To avoid an unpleasant situation
(D) To be unclear

Directions (71-75): In the following passage, some of the
words have been left out. Read the passage carefully
and select the correct answer for the given blank out
of the four alternatives.

Sloths - the adorable and lethargic animals living in
treetops - depend on the health and survival of
Central and South American tropical forests. They
spend much of their lives in the canopy,
and remaining hidden from predators. The animals
live solitary lives and travel from tree to tree using
vines. Located in places such as Brazil and
Panama, the six species of this strange and
wonderful animal need healthy forests to survive. But
tropical forests are some of the most vulnerable to
-. Loss of trees means animals are
forced to live in smaller areas of land that can't
support healthy populations. WWF works with
communities, governments, companies and other
partners to protect - and the animals
that rely on them. Sloths have an extremely low
metabolic rate, which means they move at a
, sluggish pace through the trees. On
average, sloths travel 41 yards per day - less than
half the length of a football field!

71. and remaining hidden from predators
(A) Dancing (B) Singing
(C) Snoozing (D) Tempting
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from tree to tree using vines.

(A) Blueberry (B) Canopy
(C) Grape (D) Damsel
most vulnerable to

(A) Afforestation (B) Pollution
(C) Deforestation (D) Sewage
other partners to protect

(A) Landslides (B) Seas

(C) Oceans (D) Forests
move at a , sluggish pace
(A) Rocking (B) Dangerous
(C) Languid (D) Soft

In the following question, a sentence is given with a
phrase or idiom in brackets. Select the option given
below that can replace the bracketed phrase.

Older eaglets will (pick off) younger ones and if the
adults don't bring in enough food the youngest chicks
usually get eaten.
(A) pick up

(C) pick on

(B) pick out
(D) No Improvement

Given below are four jumbled sentences. Pick one of
the given options that fit in their correct order.

A. "We are going to the market," declared Reetu and
Geetu.

B. "Where are you going?" the father asked.

C. "Take your umbrella, it is going to rain," the mother
said.

D. "Yes, definitely. We will," replied the two.

(A) BACD (B) DCAB

(C) ABDC (D) BCDA

Given below are four jumbled sentences. Pick one of
the given options that fit in their correct order.

A. It can also generate offensive or inappropriate
content.

B. Generative Al systems can create content for
malicious purposes, such as deep fakes,
disinformation, and propaganda.

C. This media can potentially access sensitive
information, raising concerns about data privacy and
security.

D. Nefarious actors may use Al-generated media to
manipulate people and influence public opinion.

(A) BADC (B) BDAC

(C) DCAB (D) DACB

The question below consists of a set of labelled
sentences. Out of the four given options, select the
most logical order of the sentences to form a coherent
paragraph.

P. And protein and polysaccharides from mushrooms
and some algae are poorly digested.

Q. The degree of absorption depends on the
composition of the food and on the eaters
themselves.

R. Fiber is not digested at all.

S. The body can only fully extract calories from a
sugar or glucose solution.
(A) RSPQ

(C) SQRP

(B) QPRS
(D) RPSQ

The question below consists of a set of labelled
sentences. Out of the four given options, select the
most logical order of the sentences to form a coherent
paragraph.

P. Now, health insurance plans also reward you for
staying healthy.

81.

82.

83.

84.

85.
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Q. Mainly targeted at the younger consumer set,
wellness benefits are earned by a policyholder who
meets the fitness criteria of the insurer.

R. So, every time you hit the gym or e-track your
steps, your insurer can assess your risk profile better
and reward you for performing better.

S. The pandemic has been a wakeup call for
everyone to take stock of their health and immunity.
(A) QPRS (B) SRPQ

(C) QRSP (D) SPRQ

In each of the questions given below, rearrange the
sentences in the correct order, and choose the
correct option.

P. This is one of the reasons why Facebook, and now
Meta, are designed in blue.

Q. In the mid-twenties, Facebook founder Mark
Zuckerberg took a colour-blindness test and realised
that he was colour blind.

R. In this way, one man's peculiarity influenced the
colour scheme of the world's most visited site, and
may have set a whole trend in social media design.

S. He had trouble distinguishing between shades of
red and green.
(A) RQPS

(C) QRPS

(B) SRPQ
(D) QSPR

In each of the questions given below, rearrange the
sentences in the correct order, and choose the
correct option.

P. If you do get sick, it is vital to self-isolate and not
go to work and social events for a minimum of seven
days.

Q. It is also valuable to test at the end of the seven-
day isolation period to check that you are no longer
positive -and potentially infectious to those around

you.
R. Risk management is a partnership between
individuals, their families, employers, venue

operators, businesses and other organisations.

S. The other partner is the government, which has a
vital role in coordinating and guiding the public health
response.
(A) PSRQ
(C) RQPS

(B) PQRS
(D) RPQS

Select the most appropriate option to fill in the blank
and make a grammatically correct sentence.

The scandal was and it really defamed the
reputation of the institution.
(A) raged

(C) Tagging

(B) Outrageous
(D) outraged

Select the most appropriate option to fill in the blank
and make a grammatically correct sentence.

The rise in health emergencies, transcending age
groups, has a caution alarm for
youngsters to be prepared with a safety shield.

(A) sounded (B) decided

(C) mandated (D) gained

In the given sentence, a blank is given indicating that
something is missing. From the given four options,
choose the one that provides the correct word to be
filed in the blank, thereby making the sentence
grammatically and contextually correct.
Unemployment does not have the same
consequences today as it did in the 1930s when most
of the unemployed were primary breadwinners.

(A) promising (B) dispute

(C) prosperous (D) dire
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In the given sentence, a blank is given indicating that

something is missing. From the given four options,

choose the one that provides the correct word to be

filed in the blank, thereby making the sentence

grammatically and contextually correct.

Religion can have a significant and positive
on people's behaviour when it comes to

moral decisions.

(A) power (B) influence

(C) flaw (D) attention

Select the most appropriate option to fill in the blank
and make a grammatically correct sentence.

If 1 that you were coming over, | would
have cancelled my programme.

(A) had known (B) am knowing

(C) know (D) knows

In the following question, a sentence has been given
in the Direct/Indirect speech. Out of the four
alternatives suggested, select the one which best
expresses the sentence in the Indirect/Direct speech.
Anamika said, "I have completed writing my novel."
(A) Anamika said that she has completed writing
novel.

(B) Anamika said that she had completed writing her
novel.

(C) Anamika said that she had completely written her
novel.

(D) Anamika said that she completed novel writing.

In the following question a sentence has been given
in direct/indirect speech. Out of the four alternatives
suggested, select the one which best expresses the
same sentence in Indirect/Direct Speech.

Rohit said, "I was calling Naina when the train
started.”

(A) Rohit said that he had called when the train had
started.

(B) Rohit said that he was calling Naina when the
train had started.

(C) Rohit said that he had been calling Naina when
the train started.

(D) Rohit said that he had been calling Naina when
the train had started.

In the following question, a sentence has been given
in Direct/ Indirect speech. Out of the four alternatives
suggested, select the one which best expresses the
same sentence in Direct/ Indirect speech.

"l don't want to attend your party," he said to me.

(A) He told me that he does not want to attend my
party.

(B) He told me that he did not want to attend my
party.

(C) He told me that he don't want to attend my party.
(D) He told me that he had not wanted to attend my

party.

In the following question a sentence has been given
in direct/indirect speech. Out of the four alternatives
suggested, select the one which best expresses the
same sentence in Indirect/Direct Speech.

Anjana said, "I was waiting for the train when he
arrived.”

(A) Anjana said that she had waited for the train when
he arrived.

(B) Anjana said that she had been waiting for the train
when he arrived.

(C) Anjana told that she had was waiting for the train
when he had arrived.

(D) Anjana said that she was waiting for the train
when he had been arriving.

In the following question, a sentence has been given
in the Direct/Indirect speech. Out of the four
alternatives suggested, select the one which best
expresses the sentence in the Indirect/Direct speech.
Rohan said, "I have completed writing my thesis."”

(A) Rohan said that he has completed writing thesis.
(B) Rohan said that he had completed writing his
thesis.

(C) Rohan said that he had completely written his
thesis.

(D) Rohan said that he completed thesis writing.

In the following question, some part of the sentence
may have errors. Find out which part of the sentence
has an error and select the appropriate option. If a
sentence is free from error, select 'No error'.

The mascot, as well (A)/ as the hockey players (B)/,
volunteer at the school. (C)/ No error (D)

(A)A (B)B

©cC (D) D

In the following question, some part of the sentence
may have errors. Find out which part of the sentence
has an error and select the appropriate option. If a
sentence is free from error, select 'No error'.

She had allege that she was asked to keep her
gender identity secret and (A)/ that the principal had
forced her to resign saying (B)/ students and teachers
had found out about her gender. (C)/ No error (D)
(A)A (B)B

©cC (D) D

In the following question, one part of the sentence
may have errors. Find out which part of the sentence
has an error and select the appropriate option. If the
sentence is free from error, select option D, i.e. '‘No
error'.

The verdict in this latest case is a breakthrough (A)/
for the prosecution, which has come (B)/ under
increase scrutiny. (C)/ No error (D)

(A)A (B)B

©cC (D) D

Directions [96-100]: Read the given passage carefully and

select the best answer to each question out of the
four given alternatives.

Literature is the foundation of life. It places an
emphasis on many topics from human tragedies to
the ever-popular tales of their search for love. These
words come alive in the imagination of the mind, and
its ability to comprehend the complexity or simplicity
of the text. Literature enables people to see through
the lens of others, and sometimes even inanimate
objects. Therefore, it becomes a looking glass into the
world as others view it. It is a journey that is inscribed
on pages and powered by the imagination of the
reader. Ultimately, literature has provided a gateway
to teach the reader about life experiences from even
the saddest stories to the most joyful ones that will
touch their hearts. From a very young age, many are
exposed to literature in the most stripped down form:
picture books and simple texts that are mainly for the
sole purpose of teaching the alphabet etc. Reading
and being given the keys to the literature world
prepares individuals from an early age to discover the
true importance of literature; being able to
comprehend and understand situations from many
perspectives.

With the ability to see the world with a pair of fresh
eyes, it triggers the reader to reflect on their own
lives. Reading something that is relatable to the
reader may teach them morals and encourage them
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to practise good judgement. This can be proven
through public school systems, where the books that
are emphasised the most tend to have a moral-
teaching purpose behind the story. An example would
be William Shakespeare's stories, where each one is
meant to be reflective of human nature - both the
good and the bad. Consequently, this can promote
better judgement of situations, so the reader does not
find themselves in the same circumstances as
perhaps those in the fiction world. Henceforth,
literature is proven to not only be reflective of life, but
it can also be used as a guide for the reader to follow
and practise good judgement from.

What does literature teach its readers?
(A) Life experiences (B) Bad habits
(C) Science (D) Drawing

What helps to discover the importance of literature?
(A) Cramming (B) Learning
(C) Debating (D) Reading

Whose stories teach one to be reflective of human
nature?

(A) William Shakespeare (B) John Milton

(C) Rabindranath Tagore (D) Judith Butler

What is the foundation of life?
(A) Literature (B) Art
(C) Science (D) Social Science

What does literature enable people to see?
(A) Inanimate objects (B) Reality
(C) Fiction (D) Non-fiction

In the following questions, out of the four alternatives,
choose the one which can be substituted for the given
words/sentence.

One who walks in sleep
(A) Somnambulist

(C) Soliloquy

(B) Somniloquist
(D) Chauffeur

In the following question, spellings of four words are
given, out of which only one is correct. Find the
correctly spelled word.
(A) posthumous

(C) discret

(B) beligerent
(D) magnificent

In the following question, one part of the sentence
may have an error. Find out which part of the
sentence has an error and select the appropriate
option.

Our research shows that religion (A)/ offers a powerful
opportunity (B)/ to inspire environmental action. (C)/
No error (D)
(A)A

©cC

(B)B
(D)D

In the following questions, out of the four alternatives,
choose the one which best expresses the meaning of
the given word.
CHIDE

(A) chastise
(C) conjecture

(B) annoy
(D) avert

In each of the questions given below, rearrange the
sentences in the correct order, and choose the
correct option.

A: Consumers must simply be more conscious of the
types of fish that they consume.

B: Mercury, which can accumulate in the body of
animals we consume, is a powerful toxin that is
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117.
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particularly harmful to the brain development of
children and unborn foetuses.

C: Health authorities have warned that even the
consumption of one can of white tuna a week by a
pregnant mother can have damaging effects on her
unborn baby.

D: Despite the danger from mercury, most consumers
should not abandon fish eating and its heart-healthy
benefits.

(A) ACDB (B) BDAC

(C) BCDA (D) DCBA

General Awareness

The 'Jahangir Mahal' was built in 17th century by Bir
Singh Deo. It is located in which city of India?

(A) Agra (B) Delhi

(C) Orchha (D) Lahore

The Citizenship Act, 1955, prescribes how many ways
of losing citizenship of India?

(A)2 (B)3

(€4 (D)5

Article 93 of the Constitution has the provisions
related to .

(A) Speaker and the Deputy Speaker of Lok Sabha
(B) Advocate general of a state

(C) Attorney general of India

(D) Election Commissioner of India

The National Film Awards is the most prominent film
award ceremony in India established in

(A) 1924 (B) 1934

(C) 1954 (D) 1964

Which of the following desert of Australia is located to
east of other three?
(A) Little Sandy Desert
(C) Simpson Desert

(B) Gibson Desert
(D) Sturt Stony Desert

Study of heart and its functioning is known as

(A) Cardioloéy
(C) Cetology

(B) Cartology
(D) Conchology

What is the rank of India among 63 countries in the
Climate Change Performance Index (CCPI) 20237

(A) 10t (B) gt

(C) gth (D) 7th

How many hearts are there in octopus?
(A1 (B)2

©s3 (D) 4

‘Srikrishnan Harihara Sarma’ has been appointed as
the MD and CEO of which bank?

(A) Yes Bank (B) IDBI Bank

(C) Karnataka Bank (D) HDFC Bank

Which country has launched the ‘Shenzhou-16’

Mission?
(A) Japan (B) China
(C) South Korea (D) Israel

Which institution reconstituted intermediary advisory
committee for legal framework?

(A) RBI (B) SEBI

(C) NPCI (D) IRDAI

Peter Mundy was a/an
(A) French traveler
(C) Italian traveler

(B) Spanish traveler
(D) Portuguese traveler
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1109. Aaliya Bet is a small island located in the state of pSc .z,Z;"

(A) Maharashtra (B) Gujarat

(C) Andhra Pradesh (D) Tamil Nadu
120. '‘Lavani' is a combination of traditional song and

dance, which is popular in .

(A) Rajasthan (B) Nagaland

(C) Bihar (D) Maharashtra
121. Which is the national animal of Bhutan?

(A) Marco Polo Sheep (B) Puma

(C) Takin (D) Bull
122. Vishnupad Temple is located at Gaya, Bihar. It was

builtintheyear 1787 A.D. by i MCQ's | BRANDING | PROMOTIONS

(A) Rani Durgavati (B) Rani Avantibai Lodhi www.tesmus.com

(C) Rani Karnavati (D) Queen Ahilyabai

Resmvus

123. '‘Bai' is a delicacy of which of the following states' M° 0 /

?:;S:\;I{e? (8) Nagaland '& RRENT AFFAIRS & GENERAL AWARENE

izoram agalan -

(C) Sikkim (D) Tripura for RAILWAY COACHINGS
124. Iberian Peninsula is located in which of the following

continent of the world?

(A) Asia (B) Europe

(C) Africa (D) Australia
125. Which of the following ranks is the highest in Indian

Army?

(A) General (B) Lieutenant general

(C) Major general (D) Brigadier

126. The 'Saptak Annual Festival of Music' is held in which
state of India?

(A) Haryana (B) Gujarat
(C) Punjab (D) Assam
127. 'Ghum railway station' is the highest railway station in MCO's | BRANDING | PROMOTIONS
India. It is located in which state of India? o p————
(A) Sikkim (B) Arunachal Pradesh ey
(C) West Bengal (D) Himachal Pradesh ESMUS
128. As per the census of India 2011, numbers of towns in
i arerets oL ! i M‘W& RRENT AFFAIRS & GENERAL AWARENESS Fy
(A) 5161 (B) 7,935 for DEFENCE COACHINGS
(C) 10,000 (D) 8, 933
129. The United Nations Environment Programme was
started in which year?
(A) 1945 (B) 1956
(C) 1972 (D) 1992

130. The 'Lokpriya Gopinath Bordoloi International Airport'
is located in which state of India?
(A) Assam (B) Chhattisgarh
(C) Jharkhand (D) Manipur T o i

ral Awareness
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Section-lll ; 15 minutes

Computer Knowledge

A point of intersection within a data communication
network is called as
(A) Node

(C) Packets

(B) Block
(D) Router

is a method of trying to gather personal
information using deceptive e-mails and websites.
(A) Phishing (B) Hacking
(C) Cyber Bullying (D) Cyberstalking

What is the minimum and the maximum zoom
percentage supported by Microsoft PowerPoint?

(A) 10%, 400% (B) 15%, 200%

(C) 10%, 500% (D) 20%, 200%

The mails that are deleted from the Inbox will be
saved in which of the following folder?

(A) All Mail (B) Compose

(C) Draft (D) Trash

HTML tags are keywords which defines how web
browser will format and display the content. Which
type of brackets makes an HTML tag?

(A) Angular brackets <> (B) Square brackets [ ]

(C) Inverted Comma ™" (D) Flower brackets { }

Which device is used in the data-link layer of the OSI
model among the following list of devices?

(A) Router (B) Repeater

(C) Bridges (D) Gateway

Cyber-attack designed to disable, shut down or
disrupt a network or website is:

(A) Brute force (B) Denial of Service

(C) Session Hijacking (D) DNS Spoofing

When you double-click a file, a program that
automatically opens the file is called as

(A) Hardwired Program  (B) Present Program

(C) Default Program (D) Direct Program

is a name used to uniquely identify a
computer file in a directory structure.
(A) File Format (B) File ID
(C) File Division (D) File Name

In Microsoft Excel, which shortcut key can be applied
to Open the excel formula window?

(A)Ctrl+ O (B)Ctrl+Zz

(C) Ctrl + F6 (D) Shift + F3

can be considered as the backbone of a
computer that govern every other aspect of the
system.

(A) System Board
(C) Main Board

(B) Motherboard
(D) Holders

While browsing the internet, which of the following
key is used for full screen view?

(A) F12 (B) F7

(C) F10 (D) F11

Which port is developed to connect high definition
devices such as digital cameras and gaming

consoles?
(A)USB (B) HDMI
(C) RCA (D) DVI
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Which key is primarily used to return the typing cursor
to the beginning of the line on which you're currently
typing?

(A) Page down key
(C) Tab key

(B) Page up key
(D) Home key

Which of the following version of Windows was
introduced after Windows Vista?

(A) Windows 7 (B) Windows 10

(C) Windows XP (D) Windows NT

What is the function of Auto Correct facility in all MS
Office applications?

(A) Replacing incorrectly spelled words while typing
(B) Replacing repeated words with 'same' words

(C) Replacing grammatically incorrect words with
correct words

(D) Replacing the selected word replacing with the
word ‘auto’

A new version of IP -IPv6 using how many bits for the
IP address which was standardized in the year 1998?
(A) 128 (B) 32

(C)64 (D) 192

is a printer that uses a focused beam or
light to transfer text and images onto paper.
(A) Thermal printer (B) Band printer
(C) Daisy wheel (D) Laser printer

Which among the following is a piece of text that
when clicked takes the user to a webpage?

(A) Hyperlink (B) URL

(C) Website (D) Browser

What is a Bootstrap?

(A) A device to support the computer

(B) A memory device

(C) A networking device

(D) A small initialization program to start up the
computer
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Answer: (D)

The logic followed here is as follows:

In 28: 364

28 x 13 = 364

In 34: 442

34 x 13 =442

In 19: 247

19 x 13 =247

But in 23: 322

23 x 13 =299

Hence, option d.

Answer: (B)

Dehradun is winter capital city of Uttarakhand in the
same way Dharamshala is winter capital city of
Himachal Pradesh.

Answer: (A)

The logic followed here is as follows,

For XAD: GJM: PSV
X+3=A,A+3=D,D+3=G,G+3=],J+3=M,
M+3=P,P+3=S5,S+3=V

For QTW: ?: ILO,
Q+3=T,T+3=W,W+3=272,Z2+3=C,C+3=F,
F+3=11+3=L,L+3=0

So, ZCF will be the fifth term.

Hence, option a.

Answer: (C)

The pattern followed here is as follows:
18+22=18+8=26

26+22=26+4=30

30+3=2=30+27=57

57+32=57+9=66

66 +4==66 +64 =130

130 +42=130 + 16 = 146

Hence, option c.

Answer: (D)

The series is given below:
kilmnno/klIlmnno/klImnno/klImnno
Answer: (B)

The final arrangement is as follows:

Box Number Color
Yellow
Blue
Green
Red
Black
Orange
There are three boxes between Orange and Blue box.

Hence, option b.

Answer: (B)

Number of odd days in a non-leap year is 1 and
number of odd days in a leap year are 2

There are 8 non-leap years (2018, 2019, 2021, 2022,
2023, 2025, 2026 and 2027) and 2 leap year 2020
and 2024 from March 19, 2017 to March 19, 2027

So, total number of odd days will be:
From March 19, 2017 to March 18, 2018:
From March 19, 2018 to March 18, 2019:
From March 19, 2019 to March 18, 2020:
From March 19, 2020 to March 18, 2021
From March 19, 2021 to March 18, 2022:
From March 19, 2022 to March 18, 2023:
From March 19, 2023 to March 18, 2024:
From March 19, 2024 to March 18, 2025:
From March 19, 2025 to March 18, 2026:
From March 19, 2026 to March 18, 2027:
So, total number of odd days is 12.

Odd days = Remainder of (12 / 7) = 5 odd days (As
remainder of the number is final odd number of days)
So, on March 19, 2027, it will be Friday (As Sunday +
5 odd days = Friday).

RINW|~|OT|O
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10.

11.

12.

13.
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Answer: (D)
The following Venn diagram can be drawn from the
given statements,

(= Qe (e
2

From the above diagram conclusion | follows.

The part of Hit which is Fast can never be Slow, so
conclusion Il follows.

The part of Quick which is Fast can never be Slow, so
conclusion Ill follows.

So, all the conclusions follow.

Hence, option d.

Answer: (C)

The logic followed here is as follows,

Each vowel is replaced with the letter having same
place value, when the letters are written in reverse
alphabetical order. Each consonant is replaced with
its 5" succeeding letter as per English alphabetical
order.

For PENGUIN,

PIE[N[G|U]|I |N

U|IV|IS|L|F|R]|S

So, code for 'PENGUIN' is 'UVSLFRS'.
For FATHER,

FIA|T|H|E|R

KIZ{Y[M]|V[W

So, code for 'FATHER' is 'KZYMVW'.
For EMPEROR,

EIM|P|[E|[R|O|R

VIR|U|V|W|L (W

So, code for 'EMPEROR' is 'VRUVWLW.'.

Answer: (B)

I. 'one eight nine four' is coded as 'da, kw, st, gh'

1. 'four two nine' is coded as 'zw, kw, da'

I1l. 'nine one six' is coded as 'st, da, IV'

From statement I, Il and Ill, 'nine' is coded as 'da’.

From statement | and I, ‘four' is coded as 'kw'.

From statement | and Ill, 'one' is coded as 'st'.

From statement | alone, 'eight' is coded as 'gh'.

From statement Il alone, 'two' is coded as 'zw'.

From statement Il alone, 'six' is coded as 'IV".

So, the word and their respective code are as follows:
Word | nine | four | one | eight | two | six
Code da kw st gh Zw Iv

So, 'six two eight' is coded as 'lv, zw, gh'.

Hence, option b.

Answer: (B)
16 16 24 60 240 1440
1 Ly 1 2l 1 M L3
x1 x1.5 x2.5 x4 x6 x8.5

'12240" will complete the given series.

16, 16, 24, 60, 240, 1440, 12240

Hence, option b.

Answer: (B)

Given: ADJUSTMENT

There are two pairs (ST and JE) in the word
'ADJUSTMENT" which has as many letter in both the
forward direction and the backward direction, as there
between them as per English alphabetical order.
Answer: (C)

The logic followed here is as follows:
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14.

15.

16.

17.

18.

Fb:-

In each column,

Square of 1stnumber + square of 3™ number =

2" number.

In Column 1 [23, 853,18]

[23]2 + [18]2 = 529 + 324 = 853

In Column 2 [17, 458, 13]

[17]2 + [13]2 = 289 + 169 = 458

Similarly,

In Column 3 [26, ?, 14]

[26]2 + [14]2 = 676 + 196 = 872

Answer: (C)

The logic followed here is as follows:

Number of letters in each word is added to the place

value of each letter of that word as per English

alphabetical order.

For CREATE,

There are 6 letters in the word CREATE. 19.
C|R E|A|T E
3 /18| 5 1 ][220 5
+6 | +6 | +6 | +6 | +6 | +6
9 |24 11| 7 | 26|11

So, the code for 'CREATE'is'924 117 26 11'

For SMILE,
S | M I L E
19 {13 | 9 [12 | 5
+5 | +5 | +5 | +5 | 45
24 118 | 14 | 17 | 10

So, the code for 'SMILE' is '24 18 14 17 10'

For DONKEY,
D|O|N K E | Y
4 |15 14|11 | 5 |25
+6 | +6 | +6 | +6 | +6 | +6
10|21 | 20|17 |11 ]| 31

So, the code for ' DONKEY"is '10 21 20 17 11 31'.

Hence, option c.

Answer: (B)

Given: 123B154C7D 12 A8

On replacing the letters with mathematical operators,

123 +154+7-12x8

=123+22-96

=145-96

=49 20.
So, the value of the given expression is '49'".

Answer: (B)

Given expression:

[{(312 # 13) @ 19} & 3] % {(2 & 78) % 46}

Replacing letters with the signs in the expression:
[{(312 + 13) + 19} x 3] - {(2 x 78) - 46}

Using rule of BODMAS, we get:

=[{(312 + 13) + 19} x 3] - {(2 x 78) - 46}

= [{24 + 19} x 3] - {156 - 46}

=[43 x 3]-110

=129 -110

=19

Hence, option b.

Answer: (D)

Word I: This word can be formed using the letters only
once.

Word II: This word can be formed using the letters
only once.

Word IlI: This word can be formed using the letters
only once.

Hence, option d.

Answer: (C)

The logic followed here is as follows,

1) If the time is between 1 and 11 then to find the
actual time, the given time is subtracted by 11:60.

2) If the time is between 11 and 1 then to find the 21

actual time, the given time is subtracted by 23:60.

As, the time is between 1 and 11, so, the given time is
subtracted by 11:60.

23:60 - 12:18 = 11:42

2 | Page

So, the time shown in the clock is 11:42hrs.
For angle between hour hand and minute hand at
11:42hrs,
The logic followed here is as follows,
Hour hand makes an angle of 30° in one hour and an
angle of 0.5° in one minute.
Similarly, minute hand makes an angle of 6° in one
minute.
So, angle made by hour hand at 11:42hrs = (11 x 30
+0.5x42) =330+ 21 =351°
Similarly, the angle made by minute hand at 11:42hrs
=42 x 6 =2520
So, the angle between the hour and minute hand at
11:42hrs = 3510 - 2520 = 990
Thus the time shown in the clock is 11:42hrs and the
angle between the minute and the hour hand is 99°.
Answer: (B)
Clues:
1) U is the father of P.
2) O, who is married to N, is the only son of U.
3) Q is the nephew of P.
4) L, who is not mother of N, is the grandmother of Q.
Inferences:
From clue 1 and clue 2, O is the husband of N. Also,
P is the daughter of U.
From clue 3, Q is the son of O.
From clue 4, L is wife of U.
The following family tree can be drawn from the given
statements,

married to

(+) L(-)

married to

brother of
N(-) O(+) P

()

Q(+)
Thus, P is the daughter of L.
Answer: (D)
P - T (17m) means P is 17m north of T.
V x T (15m) means V is 156m east of T.
V +Q (17m) means V is 17m south of Q.
Q + U (14m) means Q is 14m west of U.
R - U (8m) means R is 8m north of U.
S + R (14m) means S is 14m west of R.
X -'S (15m) means X is 15m north of S.
X x W (15m) means X is 15m east of W.
The final figure is given below:

w 15m X

15m
S 14m R
1?T¢' :Bm 8m
1o 1am U
17m

T 15m v

Hence, option d.

Answer: (C)

Following pairs of letters will appear on opposite sides
of cube,

(5 is opposite to 2).
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22.

23.

24,

25.

26.

27.

28.

Fb:-

(6 is opposite to 1).
(4 is opposite to 3).
Answer: (D)
As the digits of the letter are represented by rows and
columns respectively:
G (0] L D E N

00,56 | 22,75 | 13,44 | 30,64 | 02,46 | 33, 76

So, '56, 22, 44, 30, 46, 76' is the correct set of the
word 'GOLDEN'.
Answer: (C) 29.

Hence, option c.

Answer: (A)

The mirror image of the given combination is as
follows:

MN!@23#4&nmimn3prRESH!IUM

Hence, option a.
Answer: (C)
The piece of paper when unfolded will appear will as

follows,
---

N ol [go

orl[Re

Hence, option c.

Answer: (C)

Clues:

1) Anu sits adjacent to Gina.

2) No person sits to the right of Gina.

3) Pam sits third to the right of Neha.

4) Bill sits second to the left of Dan.

5) Bill does not sit at the extreme end seat.

Inferences:

From clue 1 and clue 2, Gina sits at the extreme right

end seat and thus Anu sits immediate left of Gina.

From clue 3,either Pam sits immediate left of Anu or

Pam sits second to the left of Anu.

Case 1: Pam sits immediate left of Anu

From clue 4, Dan sits immediate right fo Neha and

thus Bill sits second to the left of Dan.

[ Bill | Neha [ Dan | | Pam | Anu [ Gina ]

This however violates clue5. So, this case can be

rejected.

Case 2:Pam sits second to the left of Anu

From clue 4, Dan sits immediate right of Pam and

thus Bill sits second to the left of Dan.

The only person remaining is Hank, who sits

immediate left of Bill.

[ Neha [ Hank [ Bill [ Pam [Dan [ Anu | Gina |

Thus, five people sit to the right of Hank.

Hence, option c.

Answer: (C)

The correct arrangement of the given words in the

order in which they appear in an English dictionary is:

2- CURATIVES, 1- CURBSIDE, 4- CURRENCY, 3- 31.

CURRENT, 5- CURRICLES

"2, 1,4, 3, 5" is the correct arrangement.

Hence, option c.

Answer: (D)

Given: 32.
112 |3|4|5|6]|7|8]9]10
C|IH|IA|R|IA|C|T|E|R]| S

30.
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From option [a], we get,

ARCHERS is a meaningful word.

From option [b], we get,

CRASHER is a meaningful word.

From option [c], we get,

SCRATCH is a meaningful word.

From option [d], we get,

CARSHER is not a meaningful word.

'6 59 10 2 8 4' is the combination of the numbers for
the word, which is nhot meaningful word.

Hence, option d.

Answer: (D)

Given Equation: 120 + 168 + 7 - 204 x 3 = 1492
Interchanging the digits and signs given in option [a],
we get:

120 + 168 + 3 - 204 =7 x 1492

120 + 56 - 204 = 10444

176 - 204 = 10444

-28 # 10444

Interchanging the digits and signs given in option [b],
we get:

120 + 204 x 7 - 168 + 3 = 1492

120 + 204 x 7 - 56 = 1492

120 + 1428 - 56 = 1492

1548 - 56 = 1492

1492 = 1492

Interchanging the digits and signs given in option [c],
we get:

120 - 168 +~ 3 + 204 x 7 ='1492

120 - 56 + 204 x 7 = 1492

120 - 56 + 1428 = 1492

1548 - 56 = 1492

1492 = 1492

So, after interchanging the digits and signs given in
option 'b' and option 'c', we can get a balance
equation.

Hence, option d.

Answer: (B)

Following figures can be formed:

I. Some Bikes are not Rockets: Doesn't follow (As, no
direct relation between Bikes and Rockets. So, no
definite conclusion follows)

Il. All Cars can be Rockets: Follows (As, there is no
direct relation between Cars and Rockets. So, all
possible conclusions follow)

Ill. Few Planes are Cars: Doesn't follow (As no direct
relation between Planes and Cars. So, no definite
conclusion follows)

Hence, option b.

Quantitative Aptitude

Answer: (D)

Smallest number that is divisible by 12, 22 and 32 is
the L.C.M of 12, 22 and 32

Required number = 1056

Hence, option d.

Answer: (C)

{V156.25 + V56.25} x (84.25 + 62.25 + 5 - 37.75 +
32.17 of 5) = ? + 45,52 - 25,52
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33.

34.

35.

36.

37.

Fb:-

{12.5 + 7.5} x (84.25 + 12.45 - 37.75 + 160.85) = ? +
(45.5 - 25.5) (45.5 + 25.5)

20 x219.8=?+71x20

? + 1420 = 4396

? =4396 - 1420 = 2976

Hence, option c.

Answer: (D)

Let the quantity of fruits P, Q, R and S are 2x, 5x, 3x
and 4x, respectively.

Average quantity of fruits Q and S = 54kg

Total quantity of fruits Q and S = 54 x 2 = 108kg

Here Q =5x and S = 4x

5x + 4x=108kg

9x = 108kg

x =108 +9

x = 12kg

So, the quantity of fruit Q = 5x

5 x 12 = 60kg

Hence, option d.

Answer: (C)

Total weight of 52 bags of rice = 52 x 36 = 1872
kilograms

Total weight of 60 bags of rice = 60 x 38.2 = 2292
kilograms

Sum of weight of 8 new bags of rice = 2292 - 1872 =
420 kilograms

The average weight of the new 8 bags = (420/8) =
52.5 kilograms

Answer: (A)

Sum of present ages of 'A’, 'B'and 'C' = 35 x 3 =105
years

Let the present age of 'C' = 'x' years

Then, present age of 'B' = (x + 22) years

Present age of 'A' = 105 - (x + x + 22) = (83 - 2x)
years

5 years ago from now, age of 'A'=83 - 2x - 5= (78 -
2x) years

5 years ago from now, age of 'C' = (x - 5) years
According to the question,

(78-2x) = (x-5)x1.4=(1.4x-7)

Or, 78 + 7 =1.4x + 2x

So,x=85+34=25

Present age of 'A'=83 - 2 x 25 = 33 years

So, difference between ages of 'A'and 'C' =33 - 25 =
8 years

Answer: (A)

Number of males in the town = (15/26) x 5850 = 3375
Number of females in the town = 5850 - 3375 = 2475
Let number of married males in the town = 'x'

Number of unmarried males in the town = (x - 615)
So, X + X - 625 = 3375

Or, 2x = 4000

Or, x = 2000

So, number of married males in the town = 2000

And, number of unmarried males in the town = 2000 -
615 = 1375

Number of unmarried females in the town = 2250 -
1375 =875

Number of married females in the town = 2475 - 875
= 1600

Required percentage = (1600/2000) x 100 = 80%
Hence, option a.

Answer: (C)

Let the cost price of article 'A' = Rs. 'X'

Then, cost price of article 'B' = Rs. (X + 120)

Selling price of article 'A' = X x 1.25 = Rs. '1.25X'
Selling price of article 'B' = (X + 120) x 0.8 = (0.8X +
96)

According to the question,

1.25X - (0.8X +96) =75

Or, 0.45X-96 =75

So, X = (75 + 96) + 0.45 = 380

Therefore, cost price of article 'A' = Rs. 380

38.

39.

40.

41.

42.

43.
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Hence, option c.

Answer: (C)

Let the cost price of the article = Rs. 100x

Then, according to the question,

(100x x 1.2) - (100x x 0.85) = 168

Or, 120x - 85x = 168

Or, 35x = 168

So, x = (168/35) = 4.8

So, cost price of the article = 4.8 x 100 = Rs. 480

So, desired selling price = (480 x 1.25) - 60 = Rs. 540
Hence, option c.

Answer: (D)

Number of years until A's 18" birthday = 18 - 14 =4
years

Simple interest received by 'A'= X x 12 x 4 + 100 =
%'0.48X'

Compound interest received by 'B' = (X + 625) x {(1 +
(20/100)}? - (X + 625)

= (X + 625) x 1.22 - (X + 625)

= 1.44X + 900 - (X + 625) = %(0.44X + 275)

According to the question,

0.48X = 0.44X + 275

So, X =275 +0.04 = 6875

Answer: (D)

Quantity of milk in 180 litres mixture = 180 x (7/15) =
84 litres

Quantity of water in 180 litres mixture = 180 - 84 = 96
litres

After adding 8 litres of milk and 19 litres of water,
Ratio of quantities of water and milk respectively =
(96 + 19):(84 + 8) =115:92 =54

Answer: (B)

Time taken by 'A' and 'C' together to complete 100%
of the work = 49.5 x 2 = 99 days

Let the total work = L.C.M of 110, 90 and 99 = 990
units

Then, combined efficiency of ‘A" and 'B' = 990 + 110 =

9 units/day

Combined efficiency of 'B' and 'C' = 990 + 90 = 11
units/day

Combined efficiency of ‘A" and 'C' = 990 + 99 = 10
units/day

So, 2 x efficiency of 'B' = (9 + 11) - 10 = 10 units/day
So, efficiency of 'B' = (10/2) = 5 units/day

20% of the total work = 990 x 0.2 = 198 units

So, time taken by 'B' alone to complete 20% of the
work = 198 + 5 = 39.6 days

Answer: (B)

25% of the distance = 672 x 0.25 = 168 km

So, time taken to cover the 168 km = 168 + 40 = 4.2
hours

50% of the remaining distance = (672 - 168) x 0.5 =
252 km

Time taken to cover the 252 km = 252 + 48 = 5.25
hours

Remaining distance = 252 km

Remaining time = 13.95 - (5.25 + 4.2) = 4.5 hours

So, speed at which the last 252 km was travelled =
252 + 4.5 =56 km/h

Answer: (B)

Given that,

X2+ 3P2=2x+7

or,X2+9=2x+7

or, X2+ 2 = 2x

squaring on both sides,

(¢ +2)> = (2x)?

Or, x* + 4x2 + 4 = 4x2

Or,x*+4=0

So, x*=-4

And, x2=2x-2=2(x-1)

So, (x - 1) = (x¥/2)

x*-x3+x2+8

=-4-x*(x-1)+8
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44,

45.

46.

47.

48.

Fb:-

=4 -x?x (x3/2)
=4 - (x*2)
=4 - (-4/2)
=4+2=6
Answer: (C)
In the below representation,
Let AB be the tree and 'C' be the point on the ground
the giraffe is standing.
Then, AC is the distance between the giraffe and the
tree.
Angle £BCA is the angle of inclination.
A

49.

B 45°

385m 35m
i G 50.

In right triangle ADE

tan45° = (AD/DE) = (AD/38.5) = 1

So, AD = 38.5 metres

And, AB = 38.5 + 3.5 = 42 metres

Therefore, required ratio = 42:(3.5) = 12:1 51.
Hence, option c.

Answer: (B)

We have AB is parallel to DC and AD is parallel to
BC,

So, ABCD is a parallelogram

Also, AB = BC, so ABCD is a rhombus

So, area of the rhombus = (1/2) x product of the
length of the diagonals

= (1/2) x 9 x 14 = 63 cm?

The area of a triangle on the same base and between
the same parallels lines is half the area of the
parallelogram

So, area of rECD = (1/2) x 63 = 31.5 cm?

Answer: (A)

5sin?a + 8cos?a = 8 52.
Or, 5sin%a + 5cos?a + 3cos?a =8

Or, 5(sin?a + cos?a) + 3cos?a = 8

Or, 3cos2a=8-5=3

So, cos?a=(3/3)=1

So, cosa=V1 =1

So,a=0°

2tan?(a + 30)° + sec?(2a + 45)°- sin%b

= 2tan?(0 + 30)° + sec?(2 x 0 + 45)° - sinb

=2 x (11V3)2 + (\2)2 - sin%h

= (2/3) + 2 - sin%b

= (8/3) - sin’b = (23/12)

So, sin?b = (8/3) - (23/12) = (9/12) = (3/4)

So, sinb = (V3/2) 53.
Therefore, b = 60°

Answer: (D)

ATQ;

{(20 + x)/(12 + x)} = {(52 + x)/(60 + x)}

Or, (10 + x)(60 + x) = (12 + x)(52 + x)

Or, 600 + X2 + 70x = 624 + 64x + x? 54.
Or, 6x =24

Or,x=4

S0, 4x2-16x+8=4x16-16x4+8=38

Hence, option d.

Answer: (A)

Let the speed of the boat in still water = 'x' km/h

Then, upstream and downstream speed of the boat is
(x - 6) and (x + 6) km/h, respectively

According to the question,
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{28/(x - 6)} - {40/(x + 6)} = (90/60)

Or, (28x + 168 - 40x + 240) + (x% - 62) = (3/2)

Or, 3x2 - 108 = 816 - 24x

Or, 3x2+24x-924=0

Or, x>+ 8x - 308 =0

Or, x? - 14x +22x - 308 =0

Or, x(x - 14) +22(x - 14) =0

Or, (x+22)(x-14)=0

So, x = 14 (Since, speed cannot be negative)
Therefore, upstream and downstream speeds of the
boat are 8 km/h and 20 km/h, respectively.

Distance travelled by the boat in 45 minutes in
downstream = 20 x (45/60) = 15 km

Distance travelled by the boat in 105 minutes in
upstream = 8 x (105/60) = 14 km

So, total distance travelled = 15 + 14 = 29 km
Answer: (A)
Compound Interest
(15/100)}® - 1]

= 5600 x {(115/100)3 - 1]

= 5600 x {(23/20)3 - 1}

=Rs. 2,916.9

Hence, option a.

Answer: (B)

Smallest number which when divided by 48 or 70
leaves no remainder = L.C.M of 48 and 70

L.C.M of 48 and 70 = 1680

So, required number = 1680 + 17 = 1697

Hence, option b.

Answer: (D)

Any quadrilateral formed by joining the mid points of
the 4 sides of a quadrilateral is a parallelogram

We know that, in a parallelogram, opposite angles are
equal.

So, 5x +y =5y

Or, 5x =4y

So, x = (4y/5)

Substituting this value,

Sum of all angles of the parallelogram = 5y + 5y + 10
x (4y/5) + 12y - 4y

= 10y + 16y = 26y = 360°

So,y =360 + 26 = (180/13)

So, x = (4/5) x 180/13 = (144/13)

Hence, option d.

Answer: (B)

Let the height of the cylinder be 'h' feet

Then, volume of the cylinder = T x radius? x height

= (22/7) x 3.52 x height = 462 cubic feet

So, height of the cylinder = 462 + 38.5 = 12 feet

So, curved surface area of the cylinder = 2 x 1 x
radius x height = 2 x (22/7) x 3.5 x 12 = 264 square
feet

Area of the rectangular ground = 165 x 120 = 19800
square feet

So, number of revolutions needed by the road roller to
level the ground = 19800 + 264 = 75

Hence, option b.

Answer: (A)

Number of toys sold in Bangalore = 5400 x (110/360)
= 1650

Number of toys sold in Raipur = 5400 x 0.2 = 1080
So, required difference = 1650 - 1080 = 570

Hence, option a.

Answer: (C)

In forest 'B":

Let the sum of number of lions and tigers be 100x

So, number of lions in the forest = 100x x 0.4 = 40x
So, number of tigers in the forest = 100x - 40x = 60x

received = 5600 x [{1 +

ATQ;
60x - 40x = 112
Or, 20x =112

So, x = (112/20) = 5.6
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55.

56.

57.

58.

59.

60.

Fb:-

Therefore, number of tigers in the forest = 60 x 5.6 =
336

Similarly, number of tigers in forest 'D' = 112

So, required average = (336 + 112) + 2 =224

Hence, option c.

Answer: (A)

Area of isosceles triangle = (1/2) x b x [\{a2 - (b%/4)}
Where 'a’ is length of equal sides and 'b' is length of
base.

So, (1/2) xb x [\{a? - (b?/4)} = 20V11

Or, (1/2) x 20 x [\{a? - (b%/4)} = 20V11

Or, [V{a? - (b?/4)} = 2V11

Squaring both sides we get

{a2- (b%4)} =4 x 11

Or, a2 = 44 + {(20 x 20)/4} = 44 + 100 = 144

Or, a = 12 cm {Since, length cannot be negative
therefore, we will take the positive root only}

Hence, option a.

Answer: (A)

Volume of the air in the room = length x breadth x
height = 4320

So, height of the room = 4320 + (18 x 16) = 15 metres
Sum of surface area of all 4 side walls = (2 x length x
height) + (2 x breadth x height)

= (2 x 18 x 15) + (2 x 16 x 15) = 540 + 480 = 1020 m?
Surface area of the ceiling = length x breadth = 18 x
16 =288 m?

So, required sum = 1020 + 288 = 1308 m?

Answer: (C)

Radius of right circular
(diameter/2) = (12/2) =6 cm
Volume of the container = (1/3) x 1 x radius? x height
= (1/3) x T x 62 x 24 = 2881 cm?®

Let the radius of the spherical container with the
same volume be 'r' cm

Then, volume of the spherical container = (4/3) x 1 x
r3 = 2881 cm?3

So, 3 =288 x (3/4) = 216

So,r=6¢cm

Hence, option c.

Answer: (B)

Total number of teachers in school 'A" = 0.172 x
12500 = 2150

Let number of female teachers in school ‘A’ = 'x’'
Number of male teachers in school 'A' = (x + 250)

So, X + x + 250 = 2150

Or, 2x = 1900

So, x =950

So, number of male teachers in school 'A" = 950 +
250 = 1200

Number of male teachers in school 'D' = 0.80 x 0.324
x 12500 = 3240

Required difference = 3240 - 12000 = 2040

Hence, option b.

Answer: (A)

Let the number of months for which Varsha invested

conical container =

Then, number of months for which Vansh invested =
(y+95)

Ratio of profit shares of Vansh and Varsha
respectively = {2800 x (y + 5)}:(4800 x y) = 7:9

Or, (2800y + 14000):(4800y) = 7:9

Or, 25200y + 126000 = 33600y

Or, 8400y = 126000

So, y = 126000 + 8400 = 15

So, number of months for which Vansh invested in
the business = 15 + 5 = 20 months.

Answer: (D)

Selling price of article 'A' =400 x 1.4 x 0.75 = %420
Selling price of article 'D' = 300 x 1.5 x 0.76 = %342
So, required difference = 420 - 342 = %78
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e and Comprehension

Answer: (B)

The sentence is in an interrogative mood, active voice
and simple past tense (DID YOU CLEAN). Follow the
rules below to convert a sentence in the interrogative
mood to passive voice:

I. The subject clause will become the object clause.
Here, the subject (YOU) will change to the object
form, which is also YOU, and the object (THE
GARDEN) will change into the subject and begin the
sentence.

Il. Replace the auxiliary verb DID with WAS. Likewise,
replace CLEAN with CLEANED. The passive voice
construction for the simple past tense in interrogative
mood is "was/were + subject + past participle + by +
object".

Ill. Add the conjunction BY before YOU to link the
verb with its object.

Option B is the correct answer.

Answer: (B)

(B) is the right answer. Follow the rules below to
change a sentence from active to passive voice:

I. The subject THE COMPUTER will change to the
object, and the object A PROBLEM will change into
the subject and begin the sentence.

Il. The simple past tense  construction
ENCOUNTERED will change to WAS
ENCOUNTERED.

Ill. Add the preposition 'by' before the subject THE
COMPUTER.

Answer: (D)

D is the right answer. Follow the instructions below to
change a sentence from active to passive voice:

I. The subject THE WATER WORKS BOARD will turn
into the object, and the object WATER will change
into the subject and begin the sentence.
Il.  Replace IS SUPPLYING with
SUPPLIED.

Ill. Add the preposition 'by' before the object THE
WATER WORKS BOARD.

Answer: (C)

The sentence is in an interrogative mood, active voice
and simple past tense (did you remove). Follow the
rules below to convert a sentence in interrogative
mood to passive voice:

I. The subject clause will become the object clause.
Here, the subject (YOU) will change to the object of
the verb, and the object (YOUR SHOES) will change
into the subject.

Il. Replace the auxiliary verb DID with WERE.
Likewise, replace REMOVE with REMOVED. The
passive voice construction for simple past tense in
interrogative mood is "was + subject + past participle
+ by + object".

Ill. Add the conjunction BY before YOU to link the
verb with its object.

Option C is the right answer.

Answer: (C)

C is the right answer. Follow the instructions below to
change a sentence from active to passive voice:

I. The subject THE GARDENER will turn into the
object, and the object THE PLANTS will change into
the subject and begin the sentence.

Il. Replace IS WATERING with ARE WATERED.

lll. Add the preposition 'by' before the object THE
GARDENER.

Answer: (B)

The correct answer is option B. IS FORCING is
grammatically correct because the sentence is talking
about a sentence that is happening or will happen in
the future.

IS BEING
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A and B are incorrect because the verbs are in
passive voice, while the sentence is in active voice.
Answer: (D)

The correct answer is option D.

Replace the given phrase 'for my experience' with 'in
my experience’,

‘In my experience' phrase means based on what |
know, judging from what has happened to me.

Thus, option D is the correct answer.

Answer: (C)

The correct answer is option C, i.e. ending. The word
‘threshold' means the level at which something starts
to happen. The word 'ending' means the last part of
something. Thus it is clear that 'threshold' and 'ending’
are opposite words. Thus, C is the right answer.

Let's look at the meaning of other words:

Generating - to produce or create something.

Floating - not fixed; not living permanently in one
place.

Binding - making it necessary for somebody to do
something he/she has promised or to obey a law, etc.
Answer: (B)

The literal meaning of the idiom 'fire and brimstone' is
‘the punishment that last forever'.

Therefore option B seems the most relevant. The
other alternatives are entirely different.

Answer: (B)

To sell ice to eskimos means to persuade people to
go against their best interests or to accept something
unnecessary or preposterous. Eskimos are
indigenous people who live in very cold, snowy
regions - they don't need any ice. If someone can sell
ice to them, that person can sell anything to anyone.
E.g. He is such a good salesman, he can sell ice to
eskimos!

Hence option B is the correct answer.

Answer: (C)

The correct answer is option C, i.e, snoozing. The
word 'snoozing' means 'a short nap or sleep'. Its given
in the first line of the passage that sloths are
'lethargic' in nature. Therefore, the verb 'snoozing'
which means 'sleeping’ fits perfectly in the context.
The other alternatives are irrelevant given the nature
of sloths.

Therefore, the correct answer is option C.

Answer: (B)

The correct answer is option B, i.e, canopy (the
uppermost branches of trees in a forest).

Since it is mentioned in the preceding lines of the
passage that sloths reside in the canopies, therefore,
they would naturally use canopy vines to travel from
tree to tree and not any other type of vines.

Therefore, the correct answer is option B.

Damsel - a young woman.

Answer: (C)

The correct answer is option C, i.e, deforestation.

The word ‘'deforestation’ means ‘cutting down of
forests and trees in large tracts of land'. The sentence
that is followed by the blank, specifies the 'loss of
trees'.

Therefore, the correct answer is option C.
Afforestation - the practice of planting trees. Pollution
- the act of impurifying the environment. Sewage -
waste water and excrement conveyed in sewers.
Answer: (D)

The correct answer is option D, i.e, forests. Sloths
reside in forests and deforestation are endangering
their existence. Hence, every kind of organisation
should work towards preserving forests.

Therefore, the correct answer is option D.

Answer: (C)

The correct answer is option C, i.e, languid. The word
'languid’ means 'to show a disinclination towards

76.

77.

78.

79.

80.

81.

82.

7 | Page

physical exertion'. It can also be seen as a synonym
for sluggish. Since, sloths are slow, lethargic and
sluggish, therefore, they will have a languid or
sluggish pace.

Therefore, the correct answer is option C.

Dangerous - risky. Soft - tender.

Answer: (C)

PICK ON (bullied) will fit here as the sentence tells us
how the older eaglets bully the younger ones and eat
them in case of food shortage. Thus, C is the right
answer.

Pick up - lift. Pick out - select. Pick off - remove.
Answer: (A)

(a) is the right answer.. From the given sentences, we
understand that it is a conversation between a
mother, father and their two daughters. The
scrambled parts must be arranged logically to
understand their entire conversation. It is important to
establish a connection between these parts.

Line D starts with an affirmative response, without any
prior link to the dialogue. The paragraph thus cannot
start with D. Thus it is ruled out.

The paragraph thus begins with B. It is an introduction
to the conversation about ‘where the girls are going'.
A follows B. The response to the question is
answered in A. It states 'the girls are going to the
market'. C follows A. The mother tells the girls to carry
an umbrella as it is going to rain. D follows C. It is the

daughter's agreement 'yes we will.." to mother's
statement. Thus the correct order is BACD.
Answer: (A)

(a) is the correct answer. The sentence begins with
the part B, as it established the subject i.e. Al
systems. A follows by telling us about the additional
creation of an Al system of generating inappropriate
content. D follows by telling us about the Al systems
that can be used to manipulate people. C follows by
concluding that, this media can potentially access
sensitive information, raising concerns about data
privacy and security. BADC is the final order.

Answer: (C)

SQRP is the correct sequence. S begins the
paragraph by introducing the topic - extraction of
calories. It tells us that the body can extract calories
completely from a sugar or glucose solution. Q follows
S by telling us that the degree of absorption depends
on the composition of the food and on the eaters
themselves. RP puts forth the consequence of that -
indigestion of fibre; poor digestion of protein and
polysaccharides from mushrooms and some algae.
Thus, SQRP is the correct sequence, making C the
right answer.

Answer: (D)

The correct sequence should be SPRQ. The
sentence begins with the part S, as it established the
subject i.e. pandemic. P follows by telling us about
the health insurance plans. R follows by telling us
about the betterment of risk profile. Q follows by
concluding about the targeted young consumer set.
Thus, D is the right answer.

Answer: (D)

QSPR is the correct order. Q begins the paragraph by
introducing the topic - Mark Zuckerberg's colour
blindness test. It tells us how Zuckerberg realised that
he was colour blind. S follows Q by adding that he
faced difficulty in differentiating between shades of
red and green. P follows S by talking about this being
the reason behind Meta's blue colour. R concludes
the paragraph by summarising it up - changes
brought about due to one man's peculiarity. Thus, D is
the right answer.

Answer: (B)
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PQRS is the final order. P begins the paragraph by
telling us how it is important to self-isolate if one gets
sick. Q proceeds by telling us how one must also
remember to test after the isolation period is over. RS
concludes as a pair: R tells us how risk management
is a partnership between individuals, families and
other stakeholders. S concludes by telling us how the
government is the other partner. Thus, B is the right
answer.

Solution:B

The correct answer is option B. We need an adjective
to modify the noun SCANDAL.

'Raged’' means feel or express violent uncontrollable
anger. (it is a verb)

'‘Outrageous’ means are shockingly bad or excessive.
(adjective)

‘Tagging' is an incorrect word.

'‘Outraged’ means an extremely strong reaction of
anger, shock, or indignation. (verb)

Answer: (A)

The correct answer is option A. We need to place a
past participle form of the verb in the given blank, in
order to form the formation of 'HAS+V3'.

Sounded - to give a particular impression when heard
or read about; to seem.

Decided - clear; definite.

Mandated - give (someone) authority to act in a
certain way.

Gained - to obtain or win something, especially
something that you need or want.

Answer: (D)

We need an adjective to modify the noun
CONSEQUENCES. DIRE (extremely serious) will fit
here as the sentence talks about the awful
consequences of unemployment in the 1930s. Thus,
D is the right answer.

Promising - hopeful. DISPUTE (n/v) - argument.
Prosperous - successful; doing well.

Answer: (B)

We need a noun to be modified by adjectives
SIGNIFICANT and POSITIVE. INFLUENCE (impact)
will fit here as the sentence tells us how religion tends
to have a noteworthy and good impact on people's
behaviour concerning moral decisions. Thus, B is the
right answer.

Power - strength. Flaw - shortcoming. Attention -
focus.

Answer: (A)

The correct answer is option A. 'Had known' is the
correct answer because 'had' is used for the past
perfect tense. The past perfect tense is used when
we are referring to the first of two events both of
which took place in the past.

AM KNOWING is the present continuous tense.
KNOW and KNOWS are the simple present tense.
Answer: (B)

(b) is the right answer. Follow the rules below to
change a sentence from direct to indirect speech:

I. Remove the comma and quotation marks.

II. Insert THAT after the reporting verb clause
ANAMIKA SAID.

Ill. The present perfect tense construction HAVE
COMPLETED will change to the past perfect tense
construction HAD COMPLETED.

IV. The first person pronouns | and MY will change to
the third person pronouns SHE and HER respectively.
Answer: (C)

C is the right answer. Follow the instructions below to
convert a sentence from direct to indirect speech:

I. Remove the comma and inverted commas.

II. Add THAT after the reporting speech clause
ROHIT SAID.
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lll. The past continuous tense WAS CALLING will
change to the past perfect continuous tense HAD
BEEN CALLING.

IV. The first person pronoun | will change to the third
person pronoun HE.

Answer: (B)

Option B is the right answer.

The sentence is in direct speech and in an indicative
mood. To convert this sentence to the indirect
speech, follow these rules:

I. Remove the comma and the inverted commas.

Il. Change the reporting verb SAID to TOLD. The
preposition TO after TOLD will be redundant and
should be removed. Begin the indirect speech
sentence with the reporting speech clause HE TOLD
ME.

lll. Put THAT between the reporting and reported
speeches.

IV. The first person subjective pronoun | and the
second person possessive pronoun YOUR will
change to the third person subjective HE and the first
person possessive pronoun MY respectively.

V. Replace the simple past tense DO NOT WANT
with the simple past tense DID NOT WANT.

VI. The verb ATTEND will remain the same as the
infinitive construction TO+VERB requires a verb in its
base form.

VIl. Use the indicative mood syntax: Reporting
speech clause (HE TOLD ME) + THAT + Subject
(HE) + verb clause (DID NOT WANT TO ATTEND) +
Object (MY PARTY).

Answer: (B)

B is the right answer.. Follow the instructions below to
convert a sentence from direct to indirect speech:

I. Remove the comma and inverted commas.

Il. Add THAT after the reporting speech clause
ANJANA SAID.

lll. The past continuous tense WAS WAITING will
change to the past perfect continuous tense HAD
BEEN WAITING.

IV. The first person pronoun | will change to the third
person pronoun SHE.

Answer: (B)

(B) is the right answer. Follow the rules below to
change a sentence from direct to indirect speech:

I. Remove the comma and quotation marks.

1. Insert THAT after the reporting verb clause ROHAN
SAID.

Ill. The present perfect tense construction HAVE
COMPLETED will change to the past perfect tense
construction HAD COMPLETED.

IV. The first person possessive pronoun MY will
change to the third person possessive pronoun HIS.
Answer: (C)

The error is in part C of the sentence. The subject of
the sentence is 'mascot’. Since mascot is singular, it
needs a singular verb (volunteers). In this sentence,
"as well as the hockey players" is a prepositional
phrase and therefore not part of the simple subject.
According to the Subject-Verb agreement rule,
subjects and verbs must AGREE with one another in
number (singular or plural). Thus, if a subject is
singular, its verb must also be singular; if a subject is
plural, its verb must also be plural.

Hence the correct answer is option C. Correct
sentence: The mascot, as well as the hockey players,
volunteers at the school.

Answer: (A)

The error lies in part A of the sentence. Replace
‘allege’ with ‘alleged. As the sentence is in past
perfect tense, so it should be framed as - 'had+past
participle of verb'. Thus, A is the right answer.
Answer: (C)
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The correct answer is option C. The verb INCREASE
should be replaced with the adjective INCREASING
as it is being used to modify the noun SCRUTINY.
Answer: (A)

The correct answer is option A: 'Life experiences'.
Refer to the lines:"..literature has provided a
gateway to teach the reader about life experiences
from even the saddest stories to the most joyful ones
that will touch their hearts."

None of the other options is mentioned in the
passage.

Answer: (D)

The correct answer is option D: 'Reading'. Refer to
the lines: "Reading and being given the keys to the
literature world prepares individuals from an early age
to discover the true importance of literature."

The other options are incorrect as per the passage.
Answer: (A)

The correct answer is option A: 'William
Shakespeare'. The above paragraph states that in
William Shakespeare's stories, each one is meant to
be reflective of human nature - both the good and
bad.

The other authors are not mentioned in the passage.
Answer: (A)

The correct answer is option A: 'Literature'. Refer to
the lines: "Literature is the foundation of life."

The other options are not mentioned in the passage.
Answer: (A)

The correct answer is option A: 'Inanimate objects'.
Inanimate objects refer to a thing that is not alive,
such as a rock, a chair, a book, etc.

Refer to the lines: "Literature enables people to see
through the lenses of others, and sometimes even
inanimate objects. Therefore, it becomes a looking
glass into the world as others view it."

The other options are not mentioned in the passage.
Answer: (B)

One who walks in sleep is known as A
SOMNILOQUIST. Thus, B is the right answer.
Somnambulist - one who talks in sleep. Soliloquy - act
of speaking one's thoughts aloud. Chauffeur - a
person employed to drive a car.

Answer: (A)

The correctly spelled word is POSTHUMOUS (old).
Thus, A is the right answer.

Belligerent - extremely harsh. Discrete - cautious;
careful. Magnificent - marked by stately grandeur.
Answer: (D)

The sentence is grammatically correct and free of
error. Thus, D is the right answer.

Answer: (A)

CHIDE means to scold or criticise. CHASTISE is its
synonym. Thus, A is the right answer.

Annoy - trouble. Conjecture - speculate. Avert -
prevent.

Answer: (C)

BCDA is the correct sequence. B begins the passage
by establishing the subject - HARMFUL EFFECTS OF
MERCURY. It tells us how mercury is especially
harmful for unborn foetuses. C continues by giving an
example - the consumption of one can of white tuna a
week by a pregnant mother can be harmful for her
unborn baby. D follows by contrasting with the
previous statement and telling us how this does not
mean that consumers should stop eating fish. A
follows by telling us what they should do instead - be
more aware of the types of fish they are eating. Thus,
C is the right answer.
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General Awareness

Answer: (C)

The Jahangir Mahal was built in 17th century by
Bundela ruler, Bir Singh Deo. This palace is the
symbol of friendship between the Bir Singh Deo and
Jahangir. During the first visit of Jahangir in Orchha,
this palace was built in his honor.

Another Jahangir Mahal, which is located inside the
Agra Fort was built by Akbar for his son, Jahangir, to
serve as his private residence.

Answer: (B)

The Citizenship Act, 1955, prescribes three ways of
losing citizenship whether acquired under the

Act or prior to it under the Constitution, which are as:

- Renunciation

- Termination

- Deprivation

Answer: (A)

Article 93 of the Constitution provides for the election
of both the Speaker and the Deputy Speaker.

The constitutional office of the Deputy Speaker of the
Lok Sabha is more symbolic of parliamentary
democracy than some real authority.

There is no need to resign from their original party
though as a Deputy Speaker, they have to remain
impartial.

The Deputy Speaker of the Lok Sabha is not
subordinate to the speaker of Lok Sabha, He is
responsible to the Lok sabha and the second highest
ranking legislative officer of the Lok Sabha.

Answer: (C)

The National Film Awards is the most prominent film
award ceremony in India established in 1954.

First Award was given to ‘Shyamchi Aai' a Marathi
film.

The Hon'ble President of India presents the awards
culminating in showcasing of award-winning films for
the public.

Answer: (D)

Sturt Stony Desert is located to the east of other
three given deserts.

Answer: (A)

Name of the study | Field of study

Cardiology Study of heart and its
functioning

Cartology Study of Maps

Cetology Study of Whales

Climatolgy Study of Climate

Conchology Study of Shells

Cosmetology Study of Cosmetics

Answer: (C)

The Climate Change Performance Index (CCPI)

2023 has been released jointly by three

environmental non-governmental organizations viz.
Germanwatch, NewClimate Institute and the Climate
Action Network (CAN) International.

- None of the countries made it to the first three ranks.
- Denmark, with the score of 79.61, has been ranked
at fourth position. It is followed by Sweden (5") with a
score of 73.28 points, and Chile (6'") with a score of
69.54.

- The worst performers in the index are Iran, Saudi
Arabia, and Kazakhstan.

India's performance:

India, with the score of 67.35 points, has been ranked
at 8™ position among 63 countries.

In 2022 and 2021, India stood at 10" position. In
2020, it stood at 9" rank.

Answer: (C)

Web :-


https://www.facebook.com/tesmuseduserve
https://tesmus.com/

SSC_CGL_MAINS_ 2024

TEST ID - LBL - 902763754

114.

115.

116.

117.

118.

119.

120.

Fb:-

Octopuses have three hearts, which is partly a
consequence of having blue blood. Their two
peripheral hearts pump blood through the gills, where
it picks up oxygen. A central heart then circulates the
oxygenated blood to the rest of the body to provide
energy for organs and muscles.

Octopuses have 9 'brains'. One central brain is used
for overall control.

Bird and mammal hearts have four chambers (two
atria and two ventricles).

A frog, which is an amphibian, has a heart with three
chambers (one ventricle and two atria).

Fishes hearts have two chambers (one atrium and
one ventricle).

Answer: (C)

Karnataka Bank appoints Srikrishnan Harihara Sarma
as Managing Director and Chief Executive Officer
(MD and CEO).

Sarma has nearly four decades of experience spread
across Commercial, Retail, and Transactional
Banking, Technology and Payments. He was part of
the founding management team at HDFC Bank Ltd
for over nine years.

Answer: (B)

China recently launched the Shenzhou-16 mission.
As part of this mission, three astronauts lifted off atop
a Long March-2F rocket from the Jiuquan Satellite
Launch Centre in the Gobi Desert in northwest China.
The astronauts aboard Shenzhou-16 spacecraft will
stay in the Tiangong space station for the next five
months. This is the country’s fifth manned mission to
a fully functional space station since 2021.

Answer: (B)

Capital Market Regulator SEBI has recently
reconstituted its intermediary advisory committee.
This committee is responsible for providing
recommendations on matters concerning changes in
legal framework and increasing transparency in
systems and procedures of market intermediaries like
stock brokers, clearing members and depository
participants.

Answer: (C)

Peter Mundy (1630-34 A.D.) was an Italian traveler.
He visited during the reign of the Mughal Emperor,
Shahjahan.

He gave valuable information about the living
standard of the common people in the Mughal
Empire.

Answer: (D)

The Cabinet Mission Plan was a statement made by
the Cabinet Mission and the Viceroy, Lord Wavell, on
May 16, 1946, that contained proposals regarding the
constitutional future of India in the wake of Indian
political parties and representatives not coming to an
agreement.

The members of the Cabinet Mission were:

- Lord Penthick-Lawrence

- Sir Stafford Cripps

- A.V Alexander

Answer: (B)

Aaliya Bet is a small uninhabited island located in the
district of Bhadbhut and near the town of Bhadbhut
in Gujarat, India. It is a small island on the Narmada
River, with the area close to 3.5 acres.

It serves as a small stopover for fishermen and those
who travel along the river in order to discover the
wonders of the nature of North India.

Answer: (D)

Some important dance farms performed in the state
of Maharashtra are:

- Lavani

- Nakata

- Koli
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- Lezim

- Gafa

- Dahikala Dasavtar or Bohada

Answer: (C)

The Takin (Burdorcas taxicolor) is the national animal
of Bhutan. This bovid is also associated with religious
history and mythology. It has a thick neck and short
muscular legs.

Today, it is a rare animal and its conservation status
is 'vulnerable'.

Answer: (D)

Vishnupad Temple is located at Gaya, Bihar. It was
built in the year 1787 A.D. by Queen Ahilyabai. Itis a
beautiful sacred place on the banks of Phalgu River
surrounded by rugged rocks on three sides and water
on the fourth side.

Answer: (A)

Bai is a popular dish of Mizoram. It is a stew
prepared out of an assortment of vegetables. It can
be prepared in a variety of ways by combining
different kinds of seasonal vegetables.

Answer: (B)

Europe is one of the world's largest peninsulas and
the only one with a continental status. It is the world's
5th largest continent by area, covering approximately
9.9 million kmZ,

The four largest peninsulas in Europe are ltalian,
Balkan, Iberian, and Scandinavian Peninsulas.
The Iberian Peninsulais the continent's second-
largest peninsula after the Scandinavian Peninsula.

Answer: (A)

Commissioned Officers: Ranks & Insignia in

Indian Army

Commissioned Insignia

Officers

Field Marshal National emblem over a
crossed sword and baton in
a lotus blossom wreath.

General Crossed sword and baton
with star and national
emblem.

Lieutenant Crossed sword and baton

general with  national  emblem
above.

Crossed sword and baton
with the star above

Major general

Brigadier Three stars in a triangle
and National Emblem
above

Colonel Two stars and the national
emblem above

Lieutenant One Star and National

Colonel Emblem above

Major National Emblem

Answer: (B)

The Saptak Annual Festival of Music is an annual
thirteen-day Indian classical music festival held in
Ahmedabad, Gujarat.

Answer: (C)

Ghum railway station of the Darjeeling Himalayan
Railway in West Bengal is the highest railway station
in India. It is situated at an altitude of 2,258 metres
while Shimla is at 2086 m. Darjeeling is at 2073 m.
Answer: (B)

The number of towns has significantly increased from
5161 in 2001 to 7935 in 2011.

Answer: (C)

The United Nations Environment Programme is
responsible  for  coordinating responses to
environmental issues within the United Nations
system.
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United Nations Environment Programme (UNEP)

Founded 5t June, 1972
Headquarter Nairobi, Kenya
Answer: (A)

The Lokpriya Gopinath Bordoloi International Airport
is also referred to as the Guwahati Airport. It acts as
the primary international airport of the North-Eastern
States of India, located at Borjhar in the state
of Assam.

It provides international airways to Bangkok, Paro,
Thailand, etc.

Computer Knowledge

Answer: (A)

- In a larger network, a node is a device or data point.

- Anode is a connection point, a redistribution point,
or a communication endpoint in networking.

- Information is created, received, and communicated
by nodes, which then stores or relays it to other
nodes.

- For Example, in a computer network, a scanner
creates images and delivers them to a computer,
whereas a router organises data received from the
internet and distributes it to the network's different
devices.

Answer: (A)

Phishing is a method of trying to gather personal
information using deceptive e-mails and websites. It is
a cybercrime in which a target or targets are
contacted by email, telephone or text message.

It is done to get sensitive data such as personally
identifiable information, banking and credit card
details, and passwords.

The information is then used to access important
accounts and can result in identity theft and financial
loss.

Thus, Phishing is a common type of cyber-attack that
everyone should learn about in order to protect
themselves.

Answer: (A)

Microsoft PowerPoint is a powerful slide show
presentation program. It is a program that is included
in the Microsoft Office suite.

It is used to make presentations for personal and
professional purposes.

PowerPoint allows users to zoom in and zoom out of
the slides to help focus on specific sections or look at
the entire slide as a whole.

The minimum zoom supported by PowerPoint
is 10% and the maximum is 400%.

Answer: (D)

E-mail that are deleted from a folder are not
completely gone. Deleted e-mail are usually stored for
a defined time at the trash folder.

- If you delete an e-mail from your inbox, it will initially
be put into the Trash folder.

- The e-mail will only be permanently deleted if you
delete it in the Trash folder or empty the trash, or if
the e-mail's storage time has expired.

- Permanently deleted e-mail cannot be recovered.
Answer: (A)

HTML tags are like keywords which defines that how
web browser will format and display the content.

With the help of tags, a web browser can distinguish
between an HTML content and a simple content.

- HTML tags contain three main parts: opening tag,
content and closing tag.

- HTML tags are used to create HTML documents and
render their properties.
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- All HTML tags must be enclosed within < > these
brackets.

- Every tag in HTML perform different tasks.

Answer: (C)

The Data layer is the second layer of the seven-layer
OSI model of computer networking.

This layer is the protocol layer that transfers data
between adjacent network nodes in a wide area
network (WAN) or between nodes on the same local
area network (LAN) segment.

- Two types of Data Link layer devices are commonly
used on networks: bridges and switches.

- Bridge is used for interconnecting two LANs working
on the same protocol.

- A switch is a multiport bridge with a buffer and a
design that can boost its efficiency and performance.
Answer: (B)

Denial of Service is a type of attack that aims to
render a server or network resource inaccessible to
users.

- It achieves this by inundating the target with traffic or
delivering it information that causes the target to
crash.

- It attacks a server with a single machine and a
single internet connection.

- Attempts are made by the hackers to prevent
legitimate users from using the service.

Answer: (C)

A default program is one that launches when you
double-click a file.

- If you double-click a.TXT file in Windows and it
opens in Notepad that means that Notepad is the
default programme for files with the ".txt" ending.

- Because many file types can be opened by multiple
programs, default programs are required.

For each file extension, both Windows and
Macintosh computers keep a list of default apps.

"File associations" refers to the links between
programs and file extensions.

Answer: (D)

Afilename is a text string that is used to identify a
particular file.

- Every file on a computer's hard drive has a filename
that helps in locating the file within a folder.

- As a result, each file within a folder must have a
unigue name, although files in separate folders can
have the same name.

- Letters, numerals, and other characters may appear
in filenames.

- A file extension, which specifies the file type, is
commonly included in filenames.

Answer: (D)

Ctrl+P : Bring up the control dialog box to begin
printing.

Ctrl +Z : Undo last section

Ctrl +F6 : Switch between work books windows
Shift+F3 : Open the excel formula window

Shift+F5 : Bring up search box

Answer: (B)

A motherboard is one of the most essential parts of a
computer system.

The motherboard contains the connectors for
attaching additional boards.

- Typically, the motherboard contains the CPU, BIOS,
memory, mass storage interfaces, serial and parallel
ports, expansion slots.

It holds all the controllers required to control
standard peripheral devices, such as the display
screen, keyboard, and disk drive.

- All these chips that reside on the motherboard are
known as the motherboard's chipset.
Answer: (D)
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The function keys or F keys are lined across the top
of the keyboard and labelled F1 through F12.
- These keys act as shortcuts, performing certain
functions, like saving files, printing data, or refreshing
a page.
- The function keys are on the function key row, which
is above the number key row and is the highest row
on a keyboard.
- The F11 key allows you to activate full-screen mode
in your browser.
- By pressing it again, you will return to the standard
view with the menu bar.
Answer: (B)
HDMI stands for High Definition Multimedia Interface.
- It is the most common HD signal for sending both
high-definition audio and video over a single cable.
- It is a digital interface for connecting high-definition
gadgets like digital cameras, game consoles, and
other high-definition devices to PCs and TVs having
HDMI ports.
- It can carry both uncompressed and compressed
video and audio signals.
Answer: (D)
Home key is a key found on most physical and virtual
keyboards and is supported by most operating
systems.
- The primary function of the Home key is to return the
cursor to the beginning of a line, document, page,
screen or worksheet cell based on the position of the
cursor.
- Home key helps in navigation of applications or a
word processing programs.
- It is most commonly used to make the cursor move
to the beginning of the line in a text editing program.
- The Home key has the opposite functionality of the
End key.
Answer: (A)
Windows 7 is an operating system which was
released by Microsoft on October 22, 2009.
It is the successor to Windows Vista, the previous
(sixth) version of Windows.
Windows 7 has a graphical user interface (GUI) that
allows you to interact with items on the screen with
the help of a keyboard and mouse.
Windows 7, however, has a feature known as
"Windows Touch," which allows for touchscreen input
and multitouch capability.
Answer: (A)
The AutoCorrect feature is used to correct typo errors
and miss-spelt words automatically according to the
words given in the list for the AutoCorrect feature.
- AutoCorrect is a useful tool for applying specific
formatting or spelling for certain phrases often used in
your text.

The AutoCorrect feature not only fixes the
misspelling, but it also capitalizes the first letter of the
sentence.
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Answer: (A)

An Internet Protocol address is a numerical label
assigned to each device connected to a computer
network that uses the Internet Protocol for
communication.

An IP address serves two main functions: host or
network interface identification and location
addressing.

- Internet Protocol version 4 defines an IP address as
a 32-bit number.

- However, because of the growth of the Internet and
the depletion of available IPv4 addresses, a new
version of IP (IPv6), using 128 bits for the IP address,
was standardized in 1998.

- IPv6 deployment has been ongoing since the mid-
2000s.

Answer: (D)

A laser printer is a printer that uses a focused beam
or light to transfer text and images onto paper.

Laser printers have increased the neatness of print
projects, with typical resolutions of 600 dots per inch
or higher.

- In a laser print operation, a laser beam fires on a
mechanical cylinder known as a photoreceptor.

- This results in a pattern on the photoreceptor that
gets coated with toner.

- The toner sticks to the paper in patterns that are
dictated by the software used to print.

- Finally, the paper is heated in order to fuse the toner
to the paper.

Answer: (A)

In computing, a hyperlink, or simply a link, is a
reference to data that the user can follow by clicking
or tapping.

- A hyperlink points to a whole document or to a
specific element within a document.

- Hypertext is text with hyperlinks. The text that is
linked from is called anchor text.

On webpages, hyperlinks are usually coloured
purple or blue and are sometimes underlined.

- A hyperlink can be thought of as an interface that
links a source to a target.

- Clicking the hyperlink at the source will navigate to
the target.

Answer: (D)

A bootstrap is the process of starting up a
computer.

- It also refers to the program that initializes the
operating system during start-up.

When you turn on or restart a computer, it
automatically loads a sequence of commands that
initializes the system, checks for hardware, and loads
the operating system.

- This process does not require any input and is
therefore considered a bootstrap process.

- Bootstrap is the most popular CSS Framework for
developing responsive and mobile-first websites.
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In the following question, a sentence has been given
in Active/ Passive Voice. Out of the four alternatives
suggested, select the one which best expresses the
same sentence in Passive/Active Voice.

Did you clean the garden yesterday?

(A) Were the garden cleaned by you yesterday?

(B) Was the garden cleaned by you yesterday?

(C) Have you cleaned the garden yesterday?

(D) The garden was cleaned by you yesterday?

A sentence has been given in Active/Passive Voice.
Out of the four alternatives suggested, select the one
which best expresses the same sentence in
Passive/Active Voice.

The computer encountered a problem while running
the program.

(A) While running the program, the computer
encountered a problem.

(B) A problem was encountered by the computer
while running the program.

(C) A problem has been encountered by the computer
while running the program.

(D) A problem will be encountered by the computer
while running the program.

A sentence has been given in Active/Passive Voice.
Out of the four alternatives suggested, select the one
which best expresses the same sentence in
Passive/Active Voice.

The water works board is supplying water on
alternate days.

(A) Water is supplied on alternate days by the water
works board.

(B) Water is being supplied on alternate days by
water works board.

(C) The water works boards has water that is being
supplied on alternate days.

(D) Water is being supplied on alternate days by the
water works board.

In the following question, a sentence has been given
in Active/ Passive Voice. Out of the four alternatives
suggested, select the one which best expresses the
same sentence in Passive/Active Voice.

Did you remove your shoes before entering the
house?

(A) Were your shoes being removed by you before
entering the house?

(B) Remove your shoes before entering the house!
(C) Were your shoes removed by you before entering
the house?

(D) Could you please remove your shoes before
entering the house?

A sentence has been given in Active/Passive Voice.
Out of the four alternatives suggested, select the one
which best expresses the same sentence in
Passive/Active Voice.

The gardener is watering the plants on the weekends.
(A) The gardener has been watering the plants on the
weekends.

(B) The plants have been watered by the gardener on
the weekends.

(C) The plants are watered by the gardener on the
weekends.

(D) The plants were watered by the gardener on the
weekends.

66. Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is
no need to substitute it, select 'No substitution
required'.

Europe's energy crisis might been _ forcing
companies to switch strategies or close down.

(A) is being forced (B) is forcing
(C) has been forced (D) No improvement
67. Select the most appropriate option to substitute the

underlined segment in the given sentence. If there is
no need to substitute it, select 'no substitution
required'.

But for_my experience, when you buy off brand
products there may be slightly different sizes.

(A) at my experience

(B) No substitution required

(C) as my experience

(D) in my experience

68. Which of the following is opposite in meaning to the
underlined word?
When the researchers accounted for the relationship
between an electron's spin and momentum, they
could explain why mercury has such a low threshold
temperature (around - 270°C).

(A) generating (B) floating
(C) ending (D) binding
69. Select the correct meaning of the given idiom/phrase.

Fire and brimstone
(A) Reopen and quarrel  (B) To punish
(C) To forgive (D) To forget

70. Select the correct meaning of the given idiom/phrase.
Sell ice to eskimos
(A) To let a troublesome time pass
(B) To be able to sell anything to anyone
(C) To avoid an unpleasant situation
(D) To be unclear

Directions (71-75): In the following passage, some of the
words have been left out. Read the passage carefully
and select the correct answer for the given blank out
of the four alternatives.

Sloths - the adorable and lethargic animals living in
treetops - depend on the health and survival of
Central and South American tropical forests. They
spend much of their lives in the canopy,
and remaining hidden from predators. The animals
live solitary lives and travel from tree to tree using
vines. Located in places such as Brazil and
Panama, the six species of this strange and
wonderful animal need healthy forests to survive. But
tropical forests are some of the most vulnerable to
-. Loss of trees means animals are
forced to live in smaller areas of land that can't
support healthy populations. WWF works with
communities, governments, companies and other
partners to protect - and the animals
that rely on them. Sloths have an extremely low
metabolic rate, which means they move at a
, sluggish pace through the trees. On
average, sloths travel 41 yards per day - less than
half the length of a football field!

71. and remaining hidden from predators
(A) Dancing (B) Singing
(C) Snoozing (D) Tempting
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from tree to tree using vines.

(A) Blueberry (B) Canopy
(C) Grape (D) Damsel
most vulnerable to

(A) Afforestation (B) Pollution
(C) Deforestation (D) Sewage
other partners to protect

(A) Landslides (B) Seas

(C) Oceans (D) Forests
move at a , sluggish pace
(A) Rocking (B) Dangerous
(C) Languid (D) Soft

In the following question, a sentence is given with a
phrase or idiom in brackets. Select the option given
below that can replace the bracketed phrase.

Older eaglets will (pick off) younger ones and if the
adults don't bring in enough food the youngest chicks
usually get eaten.
(A) pick up

(C) pick on

(B) pick out
(D) No Improvement

Given below are four jumbled sentences. Pick one of
the given options that fit in their correct order.

A. "We are going to the market," declared Reetu and
Geetu.

B. "Where are you going?" the father asked.

C. "Take your umbrella, it is going to rain," the mother
said.

D. "Yes, definitely. We will," replied the two.

(A) BACD (B) DCAB

(C) ABDC (D) BCDA

Given below are four jumbled sentences. Pick one of
the given options that fit in their correct order.

A. It can also generate offensive or inappropriate
content.

B. Generative Al systems can create content for
malicious purposes, such as deep fakes,
disinformation, and propaganda.

C. This media can potentially access sensitive
information, raising concerns about data privacy and
security.

D. Nefarious actors may use Al-generated media to
manipulate people and influence public opinion.

(A) BADC (B) BDAC

(C) DCAB (D) DACB

The question below consists of a set of labelled
sentences. Out of the four given options, select the
most logical order of the sentences to form a coherent
paragraph.

P. And protein and polysaccharides from mushrooms
and some algae are poorly digested.

Q. The degree of absorption depends on the
composition of the food and on the eaters
themselves.

R. Fiber is not digested at all.

S. The body can only fully extract calories from a
sugar or glucose solution.
(A) RSPQ

(C) SQRP

(B) QPRS
(D) RPSQ

The question below consists of a set of labelled
sentences. Out of the four given options, select the
most logical order of the sentences to form a coherent
paragraph.

P. Now, health insurance plans also reward you for
staying healthy.

81.

82.

83.

84.

85.
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Q. Mainly targeted at the younger consumer set,
wellness benefits are earned by a policyholder who
meets the fitness criteria of the insurer.

R. So, every time you hit the gym or e-track your
steps, your insurer can assess your risk profile better
and reward you for performing better.

S. The pandemic has been a wakeup call for
everyone to take stock of their health and immunity.
(A) QPRS (B) SRPQ

(C) QRSP (D) SPRQ

In each of the questions given below, rearrange the
sentences in the correct order, and choose the
correct option.

P. This is one of the reasons why Facebook, and now
Meta, are designed in blue.

Q. In the mid-twenties, Facebook founder Mark
Zuckerberg took a colour-blindness test and realised
that he was colour blind.

R. In this way, one man's peculiarity influenced the
colour scheme of the world's most visited site, and
may have set a whole trend in social media design.

S. He had trouble distinguishing between shades of
red and green.
(A) RQPS

(C) QRPS

(B) SRPQ
(D) QSPR

In each of the questions given below, rearrange the
sentences in the correct order, and choose the
correct option.

P. If you do get sick, it is vital to self-isolate and not
go to work and social events for a minimum of seven
days.

Q. It is also valuable to test at the end of the seven-
day isolation period to check that you are no longer
positive -and potentially infectious to those around

you.
R. Risk management is a partnership between
individuals, their families, employers, venue

operators, businesses and other organisations.

S. The other partner is the government, which has a
vital role in coordinating and guiding the public health
response.
(A) PSRQ
(C) RQPS

(B) PQRS
(D) RPQS

Select the most appropriate option to fill in the blank
and make a grammatically correct sentence.

The scandal was and it really defamed the
reputation of the institution.
(A) raged

(C) Tagging

(B) Outrageous
(D) outraged

Select the most appropriate option to fill in the blank
and make a grammatically correct sentence.

The rise in health emergencies, transcending age
groups, has a caution alarm for
youngsters to be prepared with a safety shield.

(A) sounded (B) decided

(C) mandated (D) gained

In the given sentence, a blank is given indicating that
something is missing. From the given four options,
choose the one that provides the correct word to be
filed in the blank, thereby making the sentence
grammatically and contextually correct.
Unemployment does not have the same
consequences today as it did in the 1930s when most
of the unemployed were primary breadwinners.

(A) promising (B) dispute

(C) prosperous (D) dire
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In the given sentence, a blank is given indicating that

something is missing. From the given four options,

choose the one that provides the correct word to be

filled in the blank, thereby making the sentence

grammatically and contextually correct.

Religion can have a significant and positive
on people's behaviour when it comes to

moral decisions.

(A) power (B) influence

(C) flaw (D) attention

Select the most appropriate option to fill in the blank
and make a grammatically correct sentence.

If 1 that you were coming over, | would
have cancelled my programme.

(A) had known (B) am knowing

(C) know (D) knows

In the following question, a sentence has been given
in the Direct/Indirect speech. Out of the four
alternatives suggested, select the one which best
expresses the sentence in the Indirect/Direct speech.
Anamika said, "I have completed writing my novel."
(A) Anamika said that she has completed writing
novel.

(B) Anamika said that she had completed writing her
novel.

(C) Anamika said that she had completely written her
novel.

(D) Anamika said that she completed novel writing.

In the following question a sentence has been given
in direct/indirect speech. Out of the four alternatives
suggested, select the one which best expresses the
same sentence in Indirect/Direct Speech.

Rohit said, "I was calling Naina when the train
started.”

(A) Rohit said that he had called when the train had
started.

(B) Rohit said that he was calling Naina when the
train had started.

(C) Rohit said that he had been calling Naina when
the train started.

(D) Rohit said that he had been calling Naina when
the train had started.

In the following question, a sentence has been given
in Direct/ Indirect speech. Out of the four alternatives
suggested, select the one which best expresses the
same sentence in Direct/ Indirect speech.

"l don't want to attend your party," he said to me.

(A) He told me that he does not want to attend my
party.

(B) He told me that he did not want to attend my
party.

(C) He told me that he don't want to attend my party.
(D) He told me that he had not wanted to attend my

party.

In the following question a sentence has been given
in direct/indirect speech. Out of the four alternatives
suggested, select the one which best expresses the
same sentence in Indirect/Direct Speech.

Anjana said, "I was waiting for the train when he
arrived.”

(A) Anjana said that she had waited for the train when
he arrived.

(B) Anjana said that she had been waiting for the train
when he arrived.

(C) Anjana told that she had was waiting for the train
when he had arrived.

(D) Anjana said that she was waiting for the train
when he had been arriving.

In the following question, a sentence has been given
in the Direct/Indirect speech. Out of the four
alternatives suggested, select the one which best
expresses the sentence in the Indirect/Direct speech.
Rohan said, "I have completed writing my thesis."”

(A) Rohan said that he has completed writing thesis.
(B) Rohan said that he had completed writing his
thesis.

(C) Rohan said that he had completely written his
thesis.

(D) Rohan said that he completed thesis writing.

In the following question, some part of the sentence
may have errors. Find out which part of the sentence
has an error and select the appropriate option. If a
sentence is free from error, select 'No error'.

The mascot, as well (A)/ as the hockey players (B)/,
volunteer at the school. (C)/ No error (D)

(A)A (B)B

©cC (D) D

In the following question, some part of the sentence
may have errors. Find out which part of the sentence
has an error and select the appropriate option. If a
sentence is free from error, select 'No error'.

She had allege that she was asked to keep her
gender identity secret and (A)/ that the principal had
forced her to resign saying (B)/ students and teachers
had found out about her gender. (C)/ No error (D)
(A)A (B)B

©cC (D) D

In the following question, one part of the sentence
may have errors. Find out which part of the sentence
has an error and select the appropriate option. If the
sentence is free from error, select option D, i.e. 'No
error'.

The verdict in this latest case is a breakthrough (A)/
for the prosecution, which has come (B)/ under
increase scrutiny. (C)/ No error (D)

(A)A (B)B

©cC (D) D

Directions [96-100]: Read the given passage carefully and

select the best answer to each question out of the
four given alternatives.

Literature is the foundation of life. It places an
emphasis on many topics from human tragedies to
the ever-popular tales of their search for love. These
words come alive in the imagination of the mind, and
its ability to comprehend the complexity or simplicity
of the text. Literature enables people to see through
the lens of others, and sometimes even inanimate
objects. Therefore, it becomes a looking glass into the
world as others view it. It is a journey that is inscribed
on pages and powered by the imagination of the
reader. Ultimately, literature has provided a gateway
to teach the reader about life experiences from even
the saddest stories to the most joyful ones that will
touch their hearts. From a very young age, many are
exposed to literature in the most stripped down form:
picture books and simple texts that are mainly for the
sole purpose of teaching the alphabet etc. Reading
and being given the keys to the literature world
prepares individuals from an early age to discover the
true importance of literature; being able to
comprehend and understand situations from many
perspectives.

With the ability to see the world with a pair of fresh
eyes, it triggers the reader to reflect on their own
lives. Reading something that is relatable to the
reader may teach them morals and encourage them
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96.

97.

98.

99.

100.

101.

102.

103.

104.

105.

Fb:-

to practise good judgement. This can be proven
through public school systems, where the books that
are emphasised the most tend to have a moral-
teaching purpose behind the story. An example would
be William Shakespeare's stories, where each one is
meant to be reflective of human nature - both the
good and the bad. Consequently, this can promote
better judgement of situations, so the reader does not
find themselves in the same circumstances as
perhaps those in the fiction world. Henceforth,
literature is proven to not only be reflective of life, but
it can also be used as a guide for the reader to follow
and practise good judgement from.

What does literature teach its readers?
(A) Life experiences (B) Bad habits
(C) Science (D) Drawing

What helps to discover the importance of literature?
(A) Cramming (B) Learning
(C) Debating (D) Reading

Whose stories teach one to be reflective of human
nature?

(A) William Shakespeare (B) John Milton

(C) Rabindranath Tagore (D) Judith Butler

What is the foundation of life?
(A) Literature (B) Art
(C) Science (D) Social Science

What does literature enable people to see?
(A) Inanimate objects (B) Reality
(C) Fiction (D) Non-fiction

In the following questions, out of the four alternatives,
choose the one which can be substituted for the given
words/sentence.

One who walks in sleep
(A) Somnambulist

(C) Soliloquy

(B) Somniloquist
(D) Chauffeur

In the following question, spellings of four words are
given, out of which only one is correct. Find the
correctly spelled word.
(A) posthumous

(C) discret

(B) beligerent
(D) magnificent

In the following question, one part of the sentence
may have an error. Find out which part of the
sentence has an error and select the appropriate
option.

Our research shows that religion (A)/ offers a powerful
opportunity (B)/ to inspire environmental action. (C)/
No error (D)
(A)A

©cC

(B)B
(D)D

In the following questions, out of the four alternatives,
choose the one which best expresses the meaning of
the given word.
CHIDE

(A) chastise
(C) conjecture

(B) annoy
(D) avert

In each of the questions given below, rearrange the
sentences in the correct order, and choose the
correct option.

A: Consumers must simply be more conscious of the
types of fish that they consume.

B: Mercury, which can accumulate in the body of
animals we consume, is a powerful toxin that is

106.

107.

108.

109.

110.

111.

112.

113.

114.

11 | Page

particularly harmful to the brain development of
children and unborn foetuses.

C: Health authorities have warned that even the
consumption of one can of white tuna a week by a
pregnant mother can have damaging effects on her
unborn baby.

D: Despite the danger from mercury, most consumers
should not abandon fish eating and its heart-healthy
benefits.

(A) ACDB (B) BDAC

(C) BCDA (D) DCBA

etk Hed &1 fAHfur 174f warect # SR Rig 3a
J AT UT| T8 HRd & forg Tex W fRya g2

(A) 3R (B) fac

(C) 3RBT (D) TER

AR fIfTH, 1955, HRA P ARTREGAT T4
P fpa a8t Sard 82

(A) 2 (B) 3

4 (D) 5

gﬁeﬂ:r & 3G 93 A Y Taifera wrae
|

(A) THTHT & 3fezef 3R IJUTehe

(B) oot Irs &1 ATiaad

(C) YR & HeTITgdTe!

(D) HRd & YHId 3MTgerd

IS fhed RGN HRd H _ H RfUd ded
TR fhed RIR TRIE g

(A) 1924 (B) 1934

(C) 1954 (D) 1964

Sfreeferan &1 fgfafad & @ &1 w1 WRam s
% gd o fRa g2

(A) BT YA IFAE  (B) Freg+ IRRa™

(¢) g 3oid (D) T Wi guic

e 3R ITD! BTN BT T >
0§ S S B

(A) HTFSTAS (B) BTeiaTol
(LTSS (D) HHIArSIt

Climate Change Performance Index (CCPI) 2023
T 63 AW & YR BT ¥b b1 87

(A) 10t (B) 9t

(c) gth (D) 7th

g | forda fod g1 82

(A) 1 (B) 2

3 (D) 4

'fipwH gRE AT B fH9 & &1 Wl SR

W3 Fged forar mar 72
(A) THSH OEIESEIEINCED

(C) FAICH dF (D) TISITHH! §F
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115.

116.

117.

118.

119.

120.

121.

122.

123.

124.

125.

126.

Fb:-

g 321 3 I3 16 e o= fpan 82

(A) STU (B) I

(C) aféror iR (D) 3oRTZA

fog d=1 A S e & T IR JaRsR

I &1 gia- A

(A) R3S (B) It

(C) TUIitag (D) 3MTSRIITSATS

iR 481 T DY

(A) Tt gt (B) TWfwr it

(C) erfer g (D) IeTTTett At

1946 & ieic FI=M &1 I DI 6l UI?

(A) @78 U¥B-dNg  (B) R WIS fb™

(€) Tt 3R (D) TS 33

%rri%ﬂﬂé'c' I # YT T Bler 91 gy
|

(A) ¢ (B) TSRId

(C) 3fig (D) AT

TGO YRR T 3R T $T TH JaoH 8, o

A gl

(A) TR (B) I de

(C) foBR (D) HERTY

YCT &1 TP U DI A1 57

(A) HTD] UTel 9 (B) &HI

(€) fpe (D)

fawpug dfeR Mo, fogR & fyd 81 38 av 1787 %,

| GIRT ST 74T T

(A) T grfat (B) It Sfdciiars aeft

(C) Tt Hurfaa (D) I SMZTETS

gﬁ'ﬁ?ﬁﬁ%&m%ﬁmmﬁgaﬂm
?

(A) FBIRT (GEISS

(c) Ryfepa (D) g

zafRT Uiy iy & Fufafad & 9 fog aerglu

AfRag?

(A) TR (B) XU

(C) 3T (D) 3fiRefer

fFafafad & 9 o9 91 ¥ YRd I § Jaf= 82

(A) SFRA (B) dftede S Ra

(C) HOR S Ra (D) fomfemR

Tid T s e IS8T HRd & 5 Ieg A

SMNfoTd fabam ST 82

(A) Ffkamon (B) TSRTd

(C) Usild (D) 3HH

127. 'gH ¥Ad RIF' YR HT 99 ST 30d WA g
g HRd & 59 Isg # fyd 87
(A) RafamH (B) 3RUMTS U

(C) Uf¥H sma (D) Ter=a uew

HRA BT 2011 DI THTUFT & IR, URA H Bl
(towns) T T gl

(A) 5161 (B) 7,935

(C) 10,000 (D) 8, 933

Tgad Y gt HRiH e 9y g foman
UT?

128.

129.

(A5 1945
(C) 1972

BT MY dIRaEldls SRIP garg 3fgr
YR & forg Iou # R 82

(A) 3UH (B) BTG

() IRES (D) AR

(s WESMUS

- MONTHLY
CURRENT AFFAIRS MAGAZINE

BANKING COACHINGS

(B) 1956
(D) 1992

130.
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131.

132.

133.

134.

135.

136.

137.

138.

139.

Fb:-

Section-lll ; 15 minutes

Computer Knowledge
Sl ¥OR Aedgw & iR ufdwed g &

Hel a1 gl
(A) Node (B) Block
(C) Packets (D) Router

Yo 3-Ad 3R J§dgel B U
TP Al THBRI THT B BT YA HIA
CARCAGNCAR
(A) Phishing

(C) Cyber Bullying

(B) Hacking
(D) Cyberstalking

Microsoft PowerPoint §RT THd <gAdH 3R
Sifera S| ufa=rd fobd= 82

(A) 10%, 400% (B) 15%, 200%

(C) 10%, 500% (D) 20%, 200%

gdleg 9§ geTu N Ad A9 A ¥ {59 wie |
TEol SITE?
(A) All Mail
(C) Draft

HTML 71 d Bids § St I8 IR &vd & fos 9
TSR fFY TpR Il & urefid ik wefdfa
HUT| f5d UHR & HIFH ThH HTML T S 67
(A) Angular brackets < >

(B) Square brackets [ ]

(C) Inverted Comma ""

(D) Flower brackets {}

frafafad Iusxon o gl § 0S| Hisd ! Sal-
foiep TR # fory IR BT IUGIT b el 82
(A) Router (B) Repeater

(C) Bridges (D) Gateway

3t Aead a1 JeTST Bl AYH B, ¢ HIA T
gﬁhﬁmﬁ%m%ﬁm e a7 gIseER-gH

(A) Brute force
(C) Session Hijacking

e 3y freft wIsd R S9d-faas o ©, dl T
T o WA & Walfad U § Widdl 8, 39
HET ST ]

(A) Hardwired Program (B) Present Program

(C) Default Program (D) Direct Program

(B) Compose
(D) Trash

(B) Denial of Service
(D) DNS Spoofing

__ T® W § S SEREey ¥R § R
tms?r%ﬁmmﬁuﬁﬂﬁ%muﬁﬂﬁm
iG]

(A) File Format
(C) File Division

(B) File ID
(D) File Name

140.

141.

142.

143.

144.

145.

146.

147.

148.

149.
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WEHNTE Tad §, THd BiHa [de! |idad &

fore frr eTéame roft o1 TRANT o S TavaTt 82
(A) Ctrl + O (B) Ctrl + Z
(C) Ctrl + F6 (D) Shift + F3

DI TH HECR P ¢ & =q J AT off
gw%@r%m%a@mﬁﬁtﬁﬁm
I
(A) System Board
(C) Main Board

(B) Motherboard
(D) Holders

SCRAC SIS Rd 9, el b1 G & o g |
Y o grolt 1 IUTNT foba T g2

(A) F12 (B) F7

(C) F10 (D) F11

g8 Sfhfe fearsg S feftied R iR AfFfT
S BT Sl & foIT oA I1 Uié famfia foar
T 87

(A) USB
(C) RCA

(B) HDMI
(D) DVI

TIRIUT HIR P I AR BT YeoMd H I9q a-
& foIT g1 =4 ¥ fg it 1 IGANT fohar S
8 fora W 39 acfar & ey R 3@ 87

(A) Page down key (B) Page up key

(C) Tab key (D) Home key

faesie fawer & a1 fde &1 & I1 YR I
fooar Tam ur?
(A) Windows 7
(C) Windows XP

(B) Windows 10
(D) Windows NT

gt MS Office applications T 3ffet dae ﬁﬁ?ﬂ
BT DI AT 82

(A) TT3U HRJ JHY T Id-1 aTd RTeql b1 Saa-T
(B) SERIT 7T sl &l "JHM' Wsdl F SGa

(C) ARG ¥ T 7TAd Vsq] b! Tal Usal I
CEEI]

(D) T sg ! 3Tl Wsg T TS

Iy 1998 T AM®IGHd fbY 7T IP Ud & forg fpaq
¥ &1 IUTIT B U IP -IPv6 BT Th T
TEHIT 82

(A) 128 (B) 32
(C) 64 (D) 192
T fifex 8 ol TRe iR 309 &l TR W

TRIHR HRA o foTE hiese &1F a1 A1 &I ITANT
FRAT g

(A) Thermal printer
(C) Daisy wheel

(B) Band printer
(D) Laser printer

i & @ B9 1 2o &1 U ghel & P
I B IR IUGNTG! dg0S TR ST 87
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(A) Hyperlink
(C) Website

150. KU RTR?
(A) TR &1 JHYT FHRA & T TH IuHRT
(B) T AARY f3arsy
(C) U gl fEarsy

(B) URL
(D) Browser

(D) FYR B WL FA & A4 TH BJler
RR™AERE URH
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Reasoning and General Intelligence

1.

Fb:-

Answer: (D)
g1 SR {1 a7 I 39 TR &:

28: 364

28 x 13 = 364

34: 442

34 x 13 =442

19: 247

19 x 13 = 247

23:322

23 x 13 = 299

Answer: (B)

SENIGH IS B A= Ao g, I/ 8.
UHR YHRITAT FATEd UG &1 JMTdbTel o
gl

Answer: (A)

gl 3R {1 a1 dh SH ISR |,

XAD: GJM: PSV
X+3=AA+3=D,D+3=G G+3=J,J+3
=MM+3=P,P+3=S5,S+3=V
QTW: ?: ILO,
Q+3=T,T+3=W,W+3=27+3=CC+
3=FF+3=11+3=LL+3=0

dl, zCF dradl ug gr|

Answer: (C)

gt 3T T U 39 TSR §:
18+22=18+8 =26

26 +22=26+4=30

30+32=30+27=57

57 +32=57+9=66

66 + 42 =66 + 64 = 130

130 + 42 =130 + 16 = 146

Answer: (D)
kilmnno/klIlmnno/klimnno/kll
mnno

Answer: (B)

SifdTH R T UPR &:

EIEE T

2 Il el (e

1
RN 3R i fEss & g diF fess 81

Answer: (B)

Ry o 7 faww 31 ) T 1 gt & SR o

Iy 7 fawe f=i &t = 2 gt @

19 HTE 2017 ¥ 19 HRE 2027 9% 8 TR-AT Iy

(2018, 2019, 2021, 2022, 2023, 2025, 2026 3R 10.
2027) 3R 2 &g 9 2020 3R 2024 €|

1, faww foi & pa g gnft:

19 AT 2017 ¥ 18 A 2018 d: 1

19 HE 2018 F 18 HIE 2019 TH: 1

1| Page

19 {2019 | 18 AT 2020 TH: 2

19 A 2020 ¥ 18 A 2021 d: 1

19 {1 2021 ¥ 18 A 2022 dh: 1

19 HIE 2022 ¥ 18 A 2023 db: 1

19 A 2023 ¥ 18 AE 2024 db: 2

19 | 2024 ¥ 18 A 2025 dh: 1

19 A 2025 T 18 A 2026 d: 1

19 HIE 2026 ¥ 18 A 2027 db: 1

3rct:, fawe fel 1 oot e 12 7 .
fawy f&1 = (12/7) &1 Avwd = 5 fawy G Gfd
N T fat @ sifaw faww e g)

@, 19 H, 2027 B EHaR B RfAER + 5 fawe
37 = ghaw)|

Answer: (D)

fau U By 4 Fyfafed o R sE @ o
Pl g

G%@

IR ARG I 55 | TR0 BT 3 |
fge &1 S Y11 A9 § a8 Hot o A | o,
SYferg fshY 11 S8R el 3|
fbb &1 S YT Aol § a8 HH et 78T g1 Topa,
SNy e 111 3TRR0T el B
3fct:, Tt fFrepef SR v B
Answer ©
Tgl ORI T a1 dh SHUBR |,

wa@ﬁﬁuﬁaaﬁmﬂﬁ%@w%a‘r
TAd TR &I JHH RFG IF ard 3eR I 9ad
fean rar g1 Sl qufarar vH & IR UA®
%dmaﬁm 5d 3adl 3eR U 95 faar S

|

PENGUIN, & forg,

PIE[N|G|U|I [N

U[V[IS|L|F|R|S

@, 'PENGUIN' BT Bl 'UVSLFRS' B
FATHER, & farg,

FIA|T|H|E|R

KIZ|YIM|V|IW

3{d:, 'FATHER' &I $e 'KZYMVW' g1
EMPEROR, & forg,

E{M[P|E|IR |O|R

VIR |U[VIW]|L |W

@, "EMPEROR' & foTT % 'VRUVWLW' B
Answer: (B)

. 'one 3MT& Al AR & 'da, kw, st, gh' & wq o
Hifed fear T g

IIl. R T AR Bl 'zw, kw, da’ & €9 § HIfSd
forar mar g
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11.

12.

13.

14.

Fb:-

I, 18 o REq &1 'st, da, Iv' & 0 § Pifsd

o g

FYT 1, 11 RN, A B 'da’ F U X Hedg
fearma gl

$2F%I 3R 11 Y, IR B 'kw' b U H Feag fbar

TG

$2F%I 3R @, ‘one' @I 'st' & ¥J U difsd far

TG

%%ao‘%ﬂlﬁ, "33 B 'gh’' & U T Hedg bl

TRl

SR TN, o B w FEUAPRE
foar T g

&lﬁoﬁ%m:nn@r, BT DI IV & U | Difed fdbdl

TG

@, 5 3R I7F Teftid HIs 39 UHR o
Word | nine | four | one | eight | two | six
Code | da kw | st gh | zw | v
al 'six two eight' @1 'lv, zw, gh' & &U H BHifsd
fear M gl

Answer: (B)

16 16 24 60 240 1440

L Lyl Tl bl | il | byl E
x1 x1.5 x2.5 x4 x6 x8.5

112240' T TS T DI TR B

16, 16, 24, 60, 240, 1440, 12240

Answer: (B)

'ADJUSTMENT' XTec | &I SIS (ST and JE) & s
M 3R Wi ot femmai & Ia- g1 3ier &, fora
3% S SIS qUiHTAT & HH & STUR €|
Answer: (C)

gl 3FIRUT a1 a1 adh 59 TSR B

Ud® Hiad H,

Ugalt G’ BT a + ARl S BT d = gasl
AT

PHIad 1 ¥ [23, 853,18]

[23]2 + [18] = 529 + 324 = 853
PHIAH 2 H [17, 458, 13]

[17]2 + [13]2 = 289 + 169 = 458

4 UBR,

PHIH 3 H [26, ?, 14]

[26]2 + [14]2 = 676 + 196 = 872

Answer: (C)

gl 3IRUT 3T a1 ddh 39 UHR &

TP Wsg T 31&RT D1 TBT B 3Dl gufATe v
& IR 39 Weg & UAD &R & G A
SISIEIGIN]
CREATE & farg,

CREATE Tec H 6 3&R &
clrR|IE[]A]T]E
3|18 5|12/ 5
+6 | +6 | +6 | +6 | +6 | +6
9 |24 11| 7 |26/ 11
@ 'CREATE' BT HIS'924 11726 11' 8§
'SMILE' & foTg,
S| M| I
19(13] 9 [12] 5

16.

17.

2 | Page

+5 | +5 | +5| +5 | +5
24 |18 [ 14 [ 17 | 10
@ 'SMILE' BT HIS 24 18 1417 10' 8
'DONKEY' & foTg,
D|O|N|K|E]|Y
4 [15]14[11] 5 |25
+6 | +6 | +6 | +6 | +6 | +6
10 | 21 |20 | 17 | 11 | 31
@, 'DONKEY' BT TS '10 21 20 17 11 31' &
Answer: (B)

123B154C7D12A8

&R} P MY gl ¥ gea WR,

123 +154+7-12x 8

=123 +22-96

=145 - 96

= 49

Answer: (B)

{312 #13) @ 19} & 3] % {(2 & 78) % 46}
&R} P M el ¥ Tea W,

[{(312 + 13) + 19} x 3] < {(2 x 78) - 46}

[{(312 + 13) + 19} x 3] - {(2 x 78) - 46}

[{24 + 19} x 3] - {156 - 46)

[43 x 3] - 110

=129 - 110

=19

Answer: (D)

UsS |: I8 Vg HId Udh TR 3H&RY BT IUTNT Hh
ST S bl B

U |I: T8 Weg Had Uh IR 3R BT IYInT
PHIb ST Sl bl 3|

Tec |Il: T8 VoG Hhdd Ub IR 3&RT &I STINT
PP ST S GhdT g

Answer: (C)

gl ORI T a1 9 S PR 3,

1) I gIg 1 ¥ 11 P &9 § df IRddD 97 J1d
%mﬁaa%qﬁquaﬁnzeoﬁwﬁm\—m

|
2) Ife g9 11 3R 1 & &9 § o IRafdd JHY
Wa;ﬁ%%uﬁnwmﬁza:eo%w%m
iG]

Afp, T 1 3R 11 & o9 7, e, faar m
AT 11:60 ¥ °eT fear Srar g1

23:60 - 12:18 = 11:42

@ oSt o feman T 99y 11:42 S9 1

MR T D FEARTcH E T
HIv & fag,

gl IR0 fhdT T d%h SH ISR §,

He & s U °c U 30° &1 HI0 aYT Th fie o
0.5° T HI0T ST B

0 UHR e & GB U e # 60 &1 B
RGN

3fct:, 11:42 §91 G¢ BT 3 §RT I/ T HIUT =
(11 x 30 + 0.5 x 42) = 330 + 21 = 351°

3t UBR, 11:42 S fiFe &) gE gRT =1 T
DI = 42 x 6 = 252°
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19.

20.

21.

22.

Fb:-

I, 11:42 99 9 3R e Bt g & ol BT B =
351° - 252° = 99°

Y UHR TSl H feam T Ay 11:42 §9 g 3R
firTe 3R e Bt gE & o &1 B0 99° B

Answer: (B)
R 23.
1)U, P BT UaT g1
2) O, forgas faatg N & g3 €, U &1 IHald G 8|
3) Q P T HdIST g
4) L, S N ®T AT 61 8, Q B grel B
STTHT:
WA 1 AR P2 Y, 0, NHTUfd g1 AU, P, U 24.
G ERA
WH3H,Q OBIGA T
WAT4 Y, L, U B T B
fau e wyAt ¥ Fafafad ofkarie ger ferar s
W%, 25.
married to
L(-)
N(-) married to o) brother of P(1) 26.
Q(+)
TYUPR, P, L DI T I
Answer: (D)
P-Ta7E) HT 3 gfHp, TH 178 SRA B
VxT@sHy@reigfey, TR 15 Hiygd A Bl
v:qQu7Hh arerfg fe v, @ 178 el 5 g1
Q+Uath BTl 2 fd Q ud 14 ulm &gl
R-U@E ) ®13fg PR UA s SIRAL
S+RO14M) BT EfH S, RP 14T ulFT A B
X-Ssm BT EfH X sF 15 WA B
X x W (154 &7 3f 8 o5 x, w & 1517 gd A B
3ifaq siiwer i fear mar &
w 15m X
15m
S 14m R
17m’4
- :Bm 8m
P T em | 1am Y
17m 17m
T 15m v
Answer: (C) 27.
fofafea sert & 918 v9 & faudld ualf W
feams &,
(5,2 % fAuda )|
6, 1% fAua )|
4,3 % Auda )|
Answer: (D) 28.

b &R & 3fp! B HHLE: Ulckid! IR Wl gRT
ERIRISIGIES

3 | Page

G |0 |L |[D |E [N
00, | 22, | 13, | 30, | 02, 33
56 | 75 | 44 | 64 | 46
dl, '56, 22, 44, 30, 46, 76' WWW%‘T@E
gl

Answer: (C)

Answer: (A)
fau T GO @) iU Bfd ST UBR 7

MN!@23#4&nmEmn.swas®mm
Answer: (C)
BT $T gH ST We IR I8 9 UHR fears 2,

L |[IA<> o [go| [oy][e
= Al 5 &l lge
RS

Answer: (C)

IR

1) 3 ST & &Ta & 93T

2) Bis it e o1 & arS 3R e S3T B

3) UM, 38T & a1 § R R R 931 3

4) fod 39 & Y 3R IR WM R 937 3

5) fd 3ifeH SR arelt e R T FoT 21

S{THIA:

IRAT 1 3R JRIT 2 ¥, ST T 218 3R areht Wie

%@%ﬁww&asﬁm%aﬁwaﬁaﬁ?

|

IR 3 8, 1 U 31 b Sl ot SR Fa1 3 I

T 319 & ot 3R g¥R ™I W da7 §1

& 1. U, 3] S 3l IRl 3R 931§

JRAT 4 F, 1, 98T & 3P 2T JodT & R 39

TR fod, §9 & Tl 3R g RH R 9341 8

[foc | 3 | 3] [ | rg | oo

eTdillh I8 TR 5 bl Icofo Bl g1 3(c: Tg

ATHQT TSt faa o1 qahdT 6.

9 2: UTH, 31 F IRAY SR G RIF R 381 7

WAT 4 F, S, UM & 31P a8 93d1 § 3R 39

W%ﬁ éﬂ%ﬁ@?gﬂ%@mméﬁ%
T 8 AW B, o ford & Sl o1 3R

é‘o"r%w

w %% [fe [am [35 o [o]
S UBR, 8b & IS 3R Uid i 96 g
Answer: (C)

fau TN wegl b 39 HH H ) a1 & oy
H 3 3ol Ui A fews 3a &

2- CURATIVES, 1- CURBSIDE, 4- CURRENCY, 3-
CURRENT, 5- CURRICLES

"2,1, 4,3, 5" TE IR B

Answer: (D)

foar
l1]2]3]4]s5]6]7][8]9]10]
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29.

30.

Fb:-

lclHlA[R][AJC[T]E[R]S |
Pt (2] Q, &R AT ©
ARCHERS T I1ife WTeg g1

ey [b] ¥, B9 fdar g,
CRASHER T I1dd sg

faped (] T, 54 firear g,

SCRATCH T I1dfes Ueg B

fapey [d] ¥, 3% faar g,
CARSHER T T1¥feh Teg Ta1 ¢ |

'659 10 2 8 4' Xe & 7T T3 BT TS g,
S 31y Treg e g |

Answer: (D)

120 + 168 + 7 - 204 x 3 = 1492

fdpey [a] H foU U 3l SR fugl & smuyg #
Fea W, g4 I8 fradr &

120 + 168 + 3 - 204 = 7 x 1492

120 + 56 - 204 = 10444

176 - 204 = 10444

-28 # 10444

fapey [b] ¥ feU U 3t SR fugl &l sy o
oo IR, g9 I8 e g

120 + 204 x 7 - 168 + 3 = 1492

120 + 204 x 7 - 56 = 1492

120 + 1428 - 56 = 1492

1548 - 56 = 1492

1492 = 1492

faped [ B feu U 3t 3R fugl & emug A
oo W, g9 I8 e g

120 - 168 + 3 + 204 x 7 = 1492

120 - 56 + 204 x 7 = 1492

120 - 56 + 1428 = 1492

1548 - 56 = 1492

1492 = 1492

31T, fdhed b 3R fdbey ¢ H fau U 3iwf 3R
Rl 1 oMy & dqa & §Ie, g9 Ud Adad
iR Ut R Fehd ¢ |

Answer: (B)

fafafed siefaal sH1S o Tt o

@Ss

|. B S15P AYbC ol &: 39P] U ol sidl ©
dl%, I15H 3R Adbe & s BIs el JaY 81
21 3TRIT, ¥ AT ey 78 Fepadr 2)
fadta. @uft &R Adbe B Tt §: SITIRN HRaT §
(P, PR 3R b & fig 13 Pt Jay T2 3|
sﬂﬁqmﬁﬂuﬁaﬁﬁﬂf R B)

31.

32.

33.

34.

35.

36.

4 | Page

Quantitative Aptitude

Answer: (D)

12, 22 3R 32 ¥ fIursy ged B T3 12, 22
3R 32PBTLCM B

I Dh HBAT = 1056

Answer: (C)

{(V156.25 + \56.25} x (84.25 + 62.25 = 5 - 37.75
+3217 of 5) = ? + 455" - 25.5°

{12.5 + 7.5} x (84.25 + 12.45 - 37.75 + 160.85) =
? + (45.5 - 25.5) (45.5 + 25.5)

20 x 219.8 =7 + 71 x 20

? + 1420 = 4396

? = 4396 - 1420 = 2976

Answer: (D)

THI Bd P, Q, R 3R S Pt AET BHT: 2%, 5x, 3x
3%?4x%|

Tl P 3 AT Q 3R S = 54 fum

Q 8TR s Wl BT FEAGT = 54 x 2 = 108
YT Q = 5x 3R S = 4x

5x + 4x= 108kg

9x = 108kg

x=108 + 9

x = 12kg

31d:, B Q P! HET = 5x

=5x 12 = 60 foou

Answer: (C)

52 §RT d19d &1 $d do = 52 x 36 = 1872
farmm

60 SR TG B Pd doH = 60 x 382 = 2292
[CASIDIE

qad DI 8 A5 SIRAl BT A ol = 2292 - 1872

= 420 fraumm
(420/8) = 52.5 fpamum™

U 8 71 T 3Td ao =
Answer: (A)
aﬁsaﬁwcﬁaﬁﬂeﬂgwqﬁ: 35 x 3 =105
AT 'C' B adHH 31 = 'x' J
I, B & adH 3 = (x + 22) 9N
Qﬁaﬂaﬁqﬂ&rr% 105 - (x + X + 22) =
T Y598 U, 'A' BT AT = 83 -2x - 5 = (78 -
2x) a¥
T Y 598 UL, 'C' BT 3G = (x - 5) T
U9 & 39R,
(78 -2X) = (x - 5) x 1.4 =
g, 78 + 7 = 1.4x + 2x
3{d:, x =85 + 3.4 =25
A DI IIHM 3G = 83 - 2 x 25 = 33 qY
%Aﬁ%ﬂ%@%éﬁﬁﬂ: 33-25=8
Answer: (A)
Hd T QBN b1 AT = (15/26) x 5850 = 3375
P H Afgarsii &1 W& = 5850 - 3375 = 2475
AT 2ER | faarfed ool &1 981 = '
$Hd o Hfdariegd goul &1 W3 = (x - 615)
dl x + x - 625 = 3375
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37.

38.

39.

40.

41.

Fb:-

1, 2x = 4000

3{Ydl, x = 2000

3(a:, TR ¥ fqarfed goul &1 W= = 2000

3R, e W 3rfaarfed geul &t TeAm = 2000 - 615
= 1375

Fd § sifaaried Afgarsif & ¥=Am = 2250 - 1375
= 875

Fd o faarfed Afgamsti &t W= = 2475 - 875 =
1600

ST SH UfA=Id = (1600/2000) x 100 = 80%
Answer: (C)

T 9% A’ BT ARTd G = X 42.
I, 9% B BT T Ged = I(X + 120)

I A PTfIhd G = X x 1.25 = ¥'1.25X’

%] B 1 fdhd Ged = (X + 120) x 0.8 = (0.8X +
96)

UY & 39K,

1.25X - (0.8X + 96) = 75

T, 0.45X - 96 = 75

dl, X = (75 + 96) + 0.45 = 380
3YTT, 9% A BT dNTd e = 3380

Answer: (C)

AT ¥ BT AT e = 3100x § 43.
R, U9 & SR,

(100x x 1.2) - (100x x 0.85) = 168

T, 120x - 85x = 168

T, 35x = 168

dl, x = (168/35) = 4.8

ql, 9% BT ARTd Ged = 4.8 x 100 = 480

1, gifesd fasha 9o = (480 x 1.25) - 60 = ¥540
Answer: (D)

A% 189 TG I auf &I AT = 18 - 14 = 4
CL

A GRT UTd JTYROT &7l = X x 12 x 4 + 100 =
3'0.48X'

B §RT It Tshgfe STl = (X + 625) x {(1 +
(20/100)} - (X + 625)

= (X + 625) x 1.2% - (X + 625)

= 1.44X + 900 - (X + 625) = ¥(0.44X + 275)
Y & 39K, 44.
0.48X = 0.44X + 275

3, X = 275 + 0.04 = 6875

Answer: (D)

180 WieR fHyor & gy &1 °ET = 180 x (7/15) = 84
dieR

;ﬁéﬁﬁﬁ%ﬁﬁﬁ%: 180 - 84 = 96
8 Tex g 3R 19 efex U firam & e,

HU: T 3R GY B AT BT AU = (96 +
19):(84 + 8) = 115:92 = 54

Answer: (B)

‘A 3R 'C' GRT 100% &1 O HRA | forar mam
AT = 495 x 2 = 99 faA

T $d B = 110, 90 3R 99 HT LM = 990

5 | Page

R, A 3R B &I TP G&c = 990 + 110 = 9

11

%
5
3

990 + 90

.
:
:

990 + 99

dl, B®Y 2 x &l = (9 + 11) - 10 = 10 e/
M, B 1 G&fdT = (10/2) = 5 {ie/fad '

%A BT BT 20% = 990 x 0.2 = 198 FHIAT

dl, 3fdbd B GRI 20% HTH QR 6 H feran
AT = 198 + 5 = 39.6 faA

Answer: (B)

T BT 25% = 672 x 0.25 = 168 fobddl

dl, 168 fortt Bt g0 0T B | & T = 168 +
40 = 42 9¢

QY G BT 50% = (672 - 168) x 0.5 = 252 fapHt
252 fortlt DI g8 0 B | O 99T = 252 + 48
= 5259e

Y g3f = 252 fopedt

QY AT = 13.95 - (5.25 +4.2) = 4.5 &<

i, sifaw 252 fopdt &t am=n &1 Afd = 252 + 45 =
56 foe/der

Answer: (B)

X +3=2x+7

g X +9=2x+7

gl x' + 2 = 2x

ST e 1 avf B R,

X +2) =(2x)°

gl X+ 4X + 4 = 4X°

g, x*+4=0

3d:, x* = -4

3R, X = 2x-2 = 2(x - 1)

A, (x- 1) = (x/2)

X-X+x +8

=-4-x(xx-1)+8

=4-% x (x/2)

=4-(x'/2)

=4 -(-4/2)

=4+2=6

Answer: (C)

I feu e ufafAfia o,

T AT AB TS ® 3R foRTw 5 ol iR wet
TR C fAg Rl

R, AC FOoRT 3R U8 & o1 & g4 B

HIUN LBCA FHIT HT HIUT

A

10

385m 35m

B
A0 FAYS ADE T,
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45.

46.

47.

48.

Fb:-

tan45° = (AD/DE) = (AD/38.5) = 1

37c:;, AD = 38.5 HleX

3R, AB = 385 + 3.5 = 42 Hi®

I, 3MTaReh SJUId = 42:(3.5) = 12:1

Answer: (B)

AB, DC & FHMIR & 3R AD, BC & JHMIdR &, 49.
3{d: ABCD U HIR IgHs &

T g, AB = BC, SURIT ABCD U JHAGHS §

3k, FEAGHS HT &ABA = (1/2) x [dHull B
mﬁmw

= (1/2) x 9 x 14 = 63 THP 50.
TH g YR 3R U gl THieR Y@rsft & o a

Y &1 & TR TqYS & AAHT BT S

HRI]

dl, AECD &1 89%d = (1/2) x 63 = 31.5 YA

Answer: (A) 51.
5sin‘a + 8cos’a = 8

g, 5sin‘a + 5cos’a + 3cosa = 8

T, 5(sin‘a + cos'a) + 3cosa = 8

gl 3cosa=8-5=3

3[d:, cos’a = (3/3) = 1

3{d:, cosa = V1 = 1

3d:;,a=0

2tan’(a + 30)° + sec’(2a + 45)°- sin’b

= 2tan’(0 + 30)° + sec’(2 x 0 + 45)°- sin’b

=2 x (1/\3)" + (\/2) -sin’b
=(2/3) + 2 -sinb

= (8/3) - sin’b = (23/12)
3[d:, sin'b = (8/3) - (23/12) =
3, sinb = (V3/2)

3d:, b = 60° 52,
Answer: (D)

TR,

{(10 + x)/(12 + xX)} = {(52 + x)/(60 + x)}

T, (10 + x)(60 + x) = (12 + X)(52 + X)

Tl 600 + X" + 70x = 624 + 64x + X’

1, 6x = 24

g, x =4

3d:, 4x' -16x +8=4x16-16 x4 +8=28

Answer: (A)

AT i U | 19 B 1l = x fee/der

R, 1d 1 4RI & Ul d 3R YRT & 3% d T 53.
HHY: (x—6)GﬁT(x+ 6)%5?[/‘?1?[%
Y & 39K,

{28/(x - 6)} - {40/(x + 6)} = (90/60)

T, (28x + 168 - 40x + 240) + (X - 6) =
T, 3x" - 108 = 816 - 24x

T, 3% + 24x-924 =0 54.
Il x" + 8x-308=0

gl x* - 14x + 22x - 308 = 0

T, x(x - 14) + 22(x - 14) =

T, (x + 22)(x - 14) =

3, x = 14 (b, Wﬁrwqﬁ%‘rﬂﬁﬁ)

fg, 9 YRT & UfAEd IR YRT & 3IHd

Tifa pARr: 8 fopwi/der 3R 20 fpHi/Ter B

(9/12) = (3/4)

(3/2)

6 | Page

14 §RT 4RT & 3% 45 fre o 0 &1 15 g =
20 x (45/60) = 15 fHT

19 §RT YRT & Ufded 105 e & 70 &1 75 g
= 8 x (105/60) = 14 fooeil

@, T BT HA G = 15 + 14 = 29 fot
Answer: (A)

Th g ST = 5600 x [{1 + (15/100)} - 1]

= 5600 x {(115/100)’ - 1]

= 5600 x {(23/20) - 1}

=%2,916.9

Answer: (B)

Ty BIET T for 48 17 70 F fguIioid &1 W
PIS AY T8 o=dl = 48 3R 70 BT LCM

48 3R 70 BTLCM = 1680

dl, 3MIRTH T/ = 1680 + 17 = 1697

Answer: (D)

fodl aqds @1 ari Yomeff & #e fogsf &
e & &1 i+ TS U THiaR FqU gie

gl
Y A § fob IHieR Igus & TS HI0T SRR
GG
?ﬁ, 5x +y =5y
T, 5x = 4y
@, x = (4y/5)
Y U B U= H R,
AR IgYSl & T HI0T BT ART = 5y + 5y + 10
x (4y/5) + 12y - 4y
= 10y + 16y = 26y = 360°
dly =360 = 26 = (180/13)
@l x = (4/5) x 180/13 = (144/13)
Answer: (B)
AT So9 Bt HaTs 'h' Bie g
qq, 9T BT AT = it x A x FaTS

= (22/7) x 3.5% x S8 = 462 YA I
a‘rﬁﬁmﬁmﬁ 462 + 385 =12 le
I, Ry’ T gHGER I &F = 2 x n x AT x
AT = 2 x (22/7) x 3.5 x 12 = 264 T Fe
IATHR HeH BT 8F%d = 165 x 120 = 19800
Tl pe
1, S &1 THAA B34 & e TS AR DI fba
FIBHR T 81 = 19800 + 264 = 75
Answer: (A)
dTaR & s U A @ @ =
(110/360) = 1650
AR H S MU RGEE! B AT = 5400 x 0.2 =
1080
@, I H 3fdR = 1650 - 1080 = 570
Answer: (C)
IR H:
AT fob TRY 3R ST ST TR BT AT = 100x
@, ST H TR D WA = 100x x 0.4 = 40x
@, ST & aTef Y WRSAT = 100x - 40x = 60x

5400 x

TR,
60x - 40x = 112
g1, 20x = 112

@, x = (112/20) = 5.6
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55.

56.

57.

58.

59.

Fb:-

37d: ST | 99} &1 T\ = 60 x 5.6 = 336
U YR, ST 'D' § 99} Y W = 112

@, TIP3 = (336 + 112) + 2 = 224
Answer: (A)

W@a’r@'ﬁﬁﬁrﬁam (1/2) x b x [V{a -
(b’/4)}

et a THE Yorsff HI da8 § 3R b SMUR Hi
NEIER
3{d:, (1/2) xb x [V{a' - (b’/4)} = 20711
ql, (1/2) x 20 x [V{a" - (b’/4)} = 20V11
g, [V{a' - (b'/4)} = 2411
! gell T 9t B W,
@ - (b2/4)} =4 x 11
m a =44 + {(20 x 20)/4} 44 + 100 = 144
L a = 12 Y (s, ETS BUTEHD ol gf Taba,

WWWW%@%

Answer: (A)

S H BT BT AT = TGS x A x HdS =
4320

3T B DI HITs = 4320 + (18 x 16) = 15 HIe?
IRI 3R B! EIRI & YEHT &A% DT AN = (2 x

TS x HAS) + (2 x ASTE x HA)

= (2x 18 x 15) + (2 x 16 x 15) = 540 + 480 =
1020 Tf Hiex

Td DT Jdg &A% d = AdlS x TS = 18 x 16 =
288 gif Hiex

dl 3MaeYD TN = 1020 + 288 = 1308 Il Hex

Answer: (C)

W JAIDR YHIDHR U &I Bl = (AN/2) =
(12/2) = 6 T

AR BT I = (1/3) x 1t x AR x HaTS

= (1/3) x 1t x 6% x 24 = 288n Y&
AT IHH 3TdE dTd MalpR Ui &t Bear

I 2

.&F\y,] Ela5liaﬁ7{$[&ﬁqﬁ:f= (4/3) x 1t x =
288n T

al r3 = 288 x (3/4) = 216

?‘ﬁ,r=6@1ﬁ

Answer: (B)

faemer A B 1&g &1 $d I-AT = 0.172 x 12500
= 2150

A foemerd A | afger el &1 ¥ei = ¢
faemera A & goy fRiere! &t W=7 = (x + 250)

al x + x + 250 = 2150

T, 2x = 1900

dl x = 950

dl, Thd A T g3 Rigbl & 6|1 = 950 + 250 =
1200

d D H Y fRref] Bt I-AT = 0.80 x 0.324 x
12500 = 3240

TGP 3R = 3240 - 12000 = 2040

Answer: (A)
Wmﬁwmﬁﬁmwmﬁm_
ﬁn—{ 331 A foba wEHT & ferg o= fasar = (y + 5)

60.

39 3R auf & Y YWI BT U HH: =
{2800 x (y + 5)}:(4800 x y) =

1, (2800 T + 14000):(4800 TH) = 7:9

g1, 25200y + 126000 = 33600y

T, 8400y = 126000

dly = 126000 + 8400 = 15

I, 921 A gy ¥ o faw U agil ot de= =
15 + 5 = 20 HgH

Answer: (D)

I A BT fdehd T = 400 x 1.4 x 0.75 = 3420
9% 'D' D1 fdshd 7l = 300 x 1.5 x 0.76 = T342
dl, TIPSR = 420 - 342 = 378

61.

62.

63.

64.

7 | Page

e and Comprehension

Answer: (B)

The sentence is in an interrogative mood, active voice
and simple past tense (DID YOU CLEAN). Follow the
rules below to convert a sentence in the interrogative
mood to passive voice:

I. The subject clause will become the object clause.
Here, the subject (YOU) will change to the object
form, which is also YOU, and the object (THE
GARDEN) will change into the subject and begin the
sentence.

Il. Replace the auxiliary verb DID with WAS. Likewise,
replace CLEAN with CLEANED. The passive voice
construction for the simple past tense in interrogative
mood is "was/were + subject + past participle + by +
object".

Ill. Add the conjunction BY before YOU to link the
verb with its object.

Option B is the correct answer.

Answer: (B)

(B) is the right answer. Follow the rules below to
change a sentence from active to passive voice:

I. The subject THE COMPUTER will change to the
object, and the object A PROBLEM will change into
the subject and begin the sentence.

Il. The simple past tense construction
ENCOUNTERED will change to WAS
ENCOUNTERED.

Ill. Add the preposition 'by' before the subject THE
COMPUTER.

Answer: (D)

D is the right answer. Follow the instructions below to
change a sentence from active to passive voice:

I. The subject THE WATER WORKS BOARD will turn
into the object, and the object WATER will change
into the subject and begin the sentence.
IIl. Replace 1S SUPPLYING with
SUPPLIED.

lll. Add the preposition 'by' before the object THE
WATER WORKS BOARD.

Answer: (C)

The sentence is in an interrogative mood, active voice
and simple past tense (did you remove). Follow the
rules below to convert a sentence in interrogative
mood to passive voice:

I. The subject clause will become the object clause.
Here, the subject (YOU) will change to the object of
the verb, and the object (YOUR SHOES) will change
into the subject.

Il. Replace the auxiliary verb DID with WERE.
Likewise, replace REMOVE with REMOVED. The
passive voice construction for simple past tense in
interrogative mood is "was + subject + past participle
+ by + object".

IS BEING
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65.

66.

67.

68.

69.

70.

71.

72.

73.

Fb:-

lll. Add the conjunction BY before YOU to link the
verb with its object.

Option C is the right answer.

Answer: (C)

C is the right answer. Follow the instructions below to
change a sentence from active to passive voice:

I. The subject THE GARDENER will turn into the
object, and the object THE PLANTS will change into
the subject and begin the sentence.

Il. Replace IS WATERING with ARE WATERED.

Ill. Add the preposition 'by' before the object THE
GARDENER.

Answer: (B)

The correct answer is option B. IS FORCING is
grammatically correct because the sentence is talking
about a sentence that is happening or will happen in
the future.

A and B are incorrect because the verbs are in
passive voice, while the sentence is in active voice.
Answer: (D)

The correct answer is option D.

Replace the given phrase 'for my experience' with 'in
my experience’,

‘In my experience' phrase means based on what |
know, judging from what has happened to me.

Thus, option D is the correct answer.

Answer: (C)

The correct answer is option C, i.e. ending. The word
'threshold' means the level at which something starts
to happen. The word 'ending' means the last part of
something. Thus it is clear that 'threshold' and 'ending’
are opposite words. Thus, C is the right answer.

Let's look at the meaning of other words:

Generating - to produce or create something.

Floating - not fixed; not living permanently in one
place.

Binding - making it necessary for somebody to do
something he/she has promised or to obey a law, etc.
Answer: (B)

The literal meaning of the idiom 'fire and brimstone' is
‘the punishment that last forever'.

Therefore option B seems the most relevant. The
other alternatives are entirely different.

Answer: (B)

To sell ice to eskimos means to persuade people to
go against their best interests or to accept something
unnecessary or preposterous. Eskimos are
indigenous people who live in very cold, snowy
regions - they don't need any ice. If someone can sell
ice to them, that person can sell anything to anyone.
E.g. He is such a good salesman, he can sell ice to
eskimos!

Hence option B is the correct answer.

Answer: (C)

The correct answer is option C, i.e, snoozing. The
word 'snoozing' means ‘a short nap or sleep'. Its given
in the first line of the passage that sloths are
'lethargic' in nature. Therefore, the verb 'snoozing'
which means 'sleeping’ fits perfectly in the context.
The other alternatives are irrelevant given the nature
of sloths.

Therefore, the correct answer is option C.

Answer: (B)

The correct answer is option B, i.e, canopy (the
uppermost branches of trees in a forest).

Since it is mentioned in the preceding lines of the
passage that sloths reside in the canopies, therefore,
they would naturally use canopy vines to travel from
tree to tree and not any other type of vines.

Therefore, the correct answer is option B.

Damsel - a young woman.

Answer: (C)

The correct answer is option C, i.e, deforestation.

74.
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80.
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The word 'deforestation’ means ‘cutting down of
forests and trees in large tracts of land'. The sentence
that is followed by the blank, specifies the 'loss of
trees'.

Therefore, the correct answer is option C.
Afforestation - the practice of planting trees. Pollution
- the act of impurifying the environment. Sewage -
waste water and excrement conveyed in sewers.
Answer: (D)

The correct answer is option D, i.e, forests. Sloths
reside in forests and deforestation are endangering
their existence. Hence, every kind of organisation
should work towards preserving forests.

Therefore, the correct answer is option D.

Answer: (C)

The correct answer is option C, i.e, languid. The word
'languid’ means 'to show a disinclination towards
physical exertion'. It can also be seen as a synonym
for sluggish. Since, sloths are slow, lethargic and
sluggish, therefore, they will have a languid or
sluggish pace.

Therefore, the correct answer is option C.

Dangerous - risky. Soft - tender.

Answer: (C)

PICK ON (bullied) will fit here as the sentence tells us
how the older eaglets bully the younger ones and eat
them in case of food shortage. Thus, C is the right
answer.

Pick up - lift. Pick out - select. Pick off - remove.
Answer: (A)

(a) is the right answer.. From the given sentences, we
understand that it is a conversation between a
mother, father and their two daughters. The
scrambled parts. must be arranged logically to
understand their entire conversation. It is important to
establish a connection between these parts.

Line D starts with an affirmative response, without any
prior link to the dialogue. The paragraph thus cannot
start with D. Thus it is ruled out.

The paragraph thus begins with B. It is an introduction
to the conversation about ‘where the girls are going'.
A follows B. The response to the question is
answered in A. It states 'the girls are going to the
market'. C follows A. The mother tells the girls to carry
an umbrella as it is going to rain. D follows C. It is the
daughter's agreement 'yes we will..." to mother's
statement. Thus the correct order is BACD.

Answer: (A)

(a) is the correct answer. The sentence begins with
the part B, as it established the subject i.e. Al
systems. A follows by telling us about the additional
creation of an Al system of generating inappropriate
content. D follows by telling us about the Al systems
that can be used to manipulate people. C follows by
concluding that, this media can potentially access
sensitive information, raising concerns about data
privacy and security. BADC is the final order.

Answer: (C)

SQRP is the correct sequence. S begins the
paragraph by introducing the topic - extraction of
calories. It tells us that the body can extract calories
completely from a sugar or glucose solution. Q follows
S by telling us that the degree of absorption depends
on the composition of the food and on the eaters
themselves. RP puts forth the consequence of that -
indigestion of fibre; poor digestion of protein and
polysaccharides from mushrooms and some algae.
Thus, SQRP is the correct sequence, making C the
right answer.

Answer: (D)

The correct sequence should be SPRQ. The
sentence begins with the part S, as it established the
subject i.e. pandemic. P follows by telling us about
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the health insurance plans. R follows by telling us
about the betterment of risk profile. Q follows by
concluding about the targeted young consumer set.
Thus, D is the right answer.

Answer: (D)

QSPR is the correct order. Q begins the paragraph by
introducing the topic - Mark Zuckerberg's colour
blindness test. It tells us how Zuckerberg realised that
he was colour blind. S follows Q by adding that he
faced difficulty in differentiating between shades of
red and green. P follows S by talking about this being
the reason behind Meta's blue colour. R concludes
the paragraph by summarising it up - changes
brought about due to one man's peculiarity. Thus, D is
the right answer.

Answer: (B)

PQRS is the final order. P begins the paragraph by
telling us how it is important to self-isolate if one gets
sick. Q proceeds by telling us how one must also
remember to test after the isolation period is over. RS
concludes as a pair: R tells us how risk management
is a partnership between individuals, families and
other stakeholders. S concludes by telling us how the
government is the other partner. Thus, B is the right
answer.

Answer: (B)

The correct answer is option B. We need an adjective
to modify the noun SCANDAL.

'Raged' means feel or express violent uncontrollable
anger. (it is a verb)

'Outrageous' means are shockingly bad or excessive.
(adjective)

‘Tagging' is an incorrect word.

'‘Outraged’ means an extremely strong reaction of
anger, shock, or indignation. (verb)

Answer: (A)

The correct answer is option A. We need to place a
past participle form of the verb in the given blank, in
order to form the formation of 'HAS+V3'.

Sounded - to give a particular impression when heard
or read about; to seem.

Decided - clear; definite.

Mandated - give (someone) authority to act in a
certain way.

Gained - to obtain or win something, especially
something that you need or want.

Answer: (D)

We need an adjective to modify the noun
CONSEQUENCES. DIRE (extremely serious) will fit
here as the sentence talks about the awful
consequences of unemployment in the 1930s. Thus,
D is the right answer.

Promising - hopeful. DISPUTE (n/v) - argument.
Prosperous - successful; doing well.

Answer: (B)

We need a noun to be modified by adjectives
SIGNIFICANT and POSITIVE. INFLUENCE (impact)
will fit here as the sentence tells us how religion tends
to have a noteworthy and good impact on people's
behaviour concerning moral decisions. Thus, B is the
right answer.

Power - strength. Flaw - shortcoming. Attention -
focus.

Answer: (A)

The correct answer is option A. 'Had known' is the
correct answer because 'had' is used for the past
perfect tense. The past perfect tense is used when
we are referring to the first of two events both of
which took place in the past.

AM KNOWING is the present continuous tense.
KNOW and KNOWS are the simple present tense.
Answer: (B)
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(b) is the right answer. Follow the rules below to
change a sentence from direct to indirect speech:

I. Remove the comma and quotation marks.

Il. Insert THAT after the reporting verb clause
ANAMIKA SAID.

Ill. The present perfect tense construction HAVE
COMPLETED will change to the past perfect tense
construction HAD COMPLETED.

IV. The first person pronouns | and MY will change to
the third person pronouns SHE and HER respectively.
Answer: (C)

C is the right answer. Follow the instructions below to
convert a sentence from direct to indirect speech:

I. Remove the comma and inverted commas.

1. Add THAT after the reporting speech clause
ROHIT SAID.

lll. The past continuous tense WAS CALLING will
change to the past perfect continuous tense HAD
BEEN CALLING.

IV. The first person pronoun | will change to the third
person pronoun HE.

Answer: (B)

Option B is the right answer.

The sentence is in direct speech and in an indicative
mood. To convert this sentence to the indirect
speech, follow these rules:

I. Remove the comma and the inverted commas.

Il. Change the reporting verb SAID to TOLD. The
preposition TO after TOLD will be redundant and
should be removed. Begin the indirect speech
sentence with the reporting speech clause HE TOLD
ME.

lll. Put THAT between the reporting and reported
speeches.

IV. The first person subjective pronoun | and the
second ~person possessive pronoun YOUR will
change to the third person subjective HE and the first
person possessive pronoun MY respectively.

V. Replace the simple past tense DO NOT WANT
with the simple past tense DID NOT WANT.

VI. The verb ATTEND will remain the same as the
infinitive construction TO+VERB requires a verb in its
base form.

VII. Use the indicative mood syntax: Reporting
speech clause (HE TOLD ME) + THAT + Subject
(HE) + verb clause (DID NOT WANT TO ATTEND) +
Object (MY PARTY).

Answer: (B)

B is the right answer. Follow the instructions below to
convert a sentence from direct to indirect speech:

I. Remove the comma and inverted commas.

Il. Add THAT after the reporting speech clause
ANJANA SAID.

lll. The past continuous tense WAS WAITING will
change to the past perfect continuous tense HAD
BEEN WAITING.

IV. The first person pronoun | will change to the third
person pronoun SHE.

Answer: (B)

(B) is the right answer. Follow the rules below to
change a sentence from direct to indirect speech:

I. Remove the comma and quotation marks.

Il. Insert THAT after the reporting verb clause ROHAN
SAID.

Ill. The present perfect tense construction HAVE
COMPLETED will change to the past perfect tense
construction HAD COMPLETED.

IV. The first person possessive pronoun MY will
change to the third person possessive pronoun HIS.
Answer: (C)

The error is in part C of the sentence. The subject of
the sentence is 'mascot’. Since mascot is singular, it
needs a singular verb (volunteers). In this sentence,
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"as well as the hockey players" is a prepositional
phrase and therefore not part of the simple subject.
According to the Subject-Verb agreement rule,
subjects and verbs must AGREE with one another in
number (singular or plural). Thus, if a subject is
singular, its verb must also be singular; if a subject is
plural, its verb must also be plural.

Hence the correct answer is option C. Correct
sentence: The mascot, as well as the hockey players,
volunteers at the school.

Answer: (A)

The error lies in part A of the sentence. Replace
‘allege’ with 'alleged'. As the sentence is in past
perfect tense, so it should be framed as - 'had+past
participle of verb'. Thus, A is the right answer.
Answer: (C)

The correct answer is option C. The verb INCREASE
should be replaced with the adjective INCREASING
as it is being used to modify the noun SCRUTINY.
Answer: (A)

The correct answer is option A: 'Life experiences'.
Refer to the lines: "..literature has provided a
gateway to teach the reader about life experiences
from even the saddest stories to the most joyful ones
that will touch their hearts."

None of the other options is mentioned in the
passage.

Answer: (D)

The correct answer is option D: 'Reading’. Refer to
the lines: "Reading and being given the keys to the
literature world prepares individuals from an early age
to discover the true importance of literature."

The other options are incorrect as per the passage.
Answer: (A)

The correct answer is option A: 'William
Shakespeare'. The above paragraph states that in
William Shakespeare's stories, each one is meant to
be reflective of human nature - both the good and
bad.

The other authors are not mentioned in the passage.
Answer: (A)

The correct answer is option A: 'Literature'. Refer to
the lines: "Literature is the foundation of life."

The other options are not mentioned in the passage.
Answer: (A)

The correct answer is option A: 'Inanimate objects'.
Inanimate objects refer to a thing that is not alive,
such as a rock, a chair, a book, etc.

Refer to the lines: "Literature enables people to see
through the lenses of others, and sometimes even
inanimate objects. Therefore, it becomes a looking
glass into the world as others view it."

The other options are not mentioned in the passage.
Answer: (B)

One who walks in sleep is known as A
SOMNILOQUIST. Thus, B is the right answer.
Somnambulist - one who talks in sleep. Soliloquy - act
of speaking one's thoughts aloud. Chauffeur - a
person employed to drive a car.

Answer: (A)

The correctly spelled word is POSTHUMOUS (old).
Thus, A is the right answer.

Belligerent - extremely harsh. Discrete - cautious;
careful. Magnificent - marked by stately grandeur.
Answer: (D)

The sentence is grammatically correct and free of
error. Thus, D is the right answer.

Answer: (A)

CHIDE means to scold or criticise. CHASTISE is its
synonym. Thus, A is the right answer.

Annoy - trouble. Conjecture - speculate. Avert -
prevent.

Answer: (C)
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BCDA is the correct sequence. B begins the passage
by establishing the subject - HARMFUL EFFECTS OF
MERCURY. It tells us how mercury is especially
harmful for unborn foetuses. C continues by giving an
example - the consumption of one can of white tuna a
week by a pregnant mother can be harmful for her
unborn baby. D follows by contrasting with the
previous statement and telling us how this does not
mean that consumers should stop eating fish. A
follows by telling us what they should do instead - be
more aware of the types of fish they are eating. Thus,
C is the right answer.

General Awareness

Answer: (C)
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